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Q.1 In a certain code language, ‘ALUMNI' is written as ‘FLMRJA’. What is the code for ‘BACKED’
in that code language?

Ans X 1.ACZKYB
X 2. ACKAYB
X 3. ABKZYB
o 4. ACKZYB

Question ID : 630680938126

Option 11D : 6306803676983
Option 21D : 6306803676984
Option 31D : 6306803676981
Option 41D : 6306803676982

Q.2 In a certain code language, ‘PTYZOAJ’ is written as ‘YTPZJAO'. What is the code for
‘BWXDJMN’ in that code language?

Ans X 1.XWBNMJD
X 2. XWBDNJM
< 3. XBWDNMJ
& 4. XWBDNMJ

Question ID : 630680937925

Option 11D : 6306803676177
Option 21D : 6306803676179
Option 31D : 6306803676178
Option 41D : 6306803676180
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Q.3 Ais the wife of B. B is the brother of C. C is the sister of D. D is the father of E. How is C
related to A?

Ans X 1. Brother's wife
/< 2. Sister's husband
«# 3. Husband’s sister

X 4. Wife' sister

Question ID : 630680937971

Option 11D : 6306803676363
Option 21D : 6306803676362
Option 31D : 6306803676364
Option 4 ID : 6306803676361

Q.4 In a certain code language, ‘GIVEN' is coded as ‘ILXHP’, 'HARD' is coded as ‘JDTG’. How will
‘TARGET' be coded in that code language?

Ans X 1.VDSJGW
X 2. VCTJGW
& 3. VDTJGW
25 4. VDTKGW

Question ID : 630680938005

Option 11D : 6306803676499
Option 21D : 6306803676497
Option 31D : 6306803676498
Option 4 1D : 6306803676500

[N Y]

Q.5 If '="means '+, ‘+' means ‘%', ‘=’ means ‘~’ and 'x’ means ‘+', then which of the following

equation is not correct?
Ans  4# 1.48+-5+8x10-2=15

K 2.43%x7+10-5+20=10
X 3.15+6x4-2+9=27
X 4.9-3+7-4x8=25

Question ID : 630680937991

Option 11D : 6306803676441
Option 2 ID : 6306803676442
Option 31D : 6306803676444
Option 4 ID : 6306803676443
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Q.6 Select the option in which the numbers shares the same relationship in set as that shared
by the numbers in the given set. (NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into its constituent digits. E.g.13 —
Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is
not allowed)

(82, 87,112)
(114,119, 144)

X 1.(84,89,124)

X 2.(189, 194, 209)
X 3.(129, 134, 139)
o 4. (512,517, 542)

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938117

6306803676948
6306803676946
6306803676945
6306803676947

Q.7 ‘S -T means ‘S’ is the wife of ‘T’, ‘'S + T' means ‘S’ is the daughter of ‘T’ and ‘S + T' means
‘S’ is the son of ‘T". If F — G + H + J — K then How is J related to G?

Ans X 1. Mother's father
5 2. Mother
& 3. Mother’s brother
«" 4. Mother's mother
Question ID : 630680937933
Option 11D : 6306803676210
Option 2 ID : 6306803676212
Option 3 ID : 6306803676209
Option 4 ID : 6306803676211
Q.8 Select that missing pair (Fifth letter cluster : Sixth letter cluster) which is related in the
same way as the first letter cluster is related to the second letter cluster and third letter
cluster is related to fourth letter cluster.
RSV : SUY :: DFH : EHK :: ?
Ans o 1. RXT:SZW
X 2.BIK:YJI
25 3.GFO:IHR
25 4.CFH:FHI
Question ID : 630680937936
Option 11D : 6306803676222
Option 21D : 6306803676223
Option 31D : 6306803676221
Option 41D : 6306803676224
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Q.9 Select that missing pair (Fifth letter cluster : Sixth letter cluster) which is related in the
same way as the first letter cluster is related to the second letter cluster and third letter
cluster is related to fourth letter cluster.

HJK:GlJ::FDM:ECL::?
Ans X 1.BRC:CSR
o 2.LKS:KJR
/< 3.DMH: COG
< 4. MNP : KLN

Question ID : 630680938017

Option 11D : 6306803676546
Option 21D : 6306803676548
Option 31D : 6306803676545
Option 41D : 6306803676547

Q.10 Select the option that is related to the third number cluster in the same way as the second
number cluster is related to the first number cluster and sixth number cluster is related to
fifth number cluster. (NOTE: Operations should be performed on the whole numbers,
without breaking down the numbers into its constituent digits. E.g.13 — Operations on 13
such as adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13
into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)
78:156::55:7::93:186

Ans X 1.109

o 2.110
X 3.107
X 4.108

Question ID : 630680938036

Option 11D : 6306803676622
Option 2 ID : 6306803676621
Option 31D : 6306803676624
Option 41D : 6306803676623

Q.11 In the following question, select the missing number from the given series.

153,152, 148, 139, 123, ?
Ans X 1.93

o 2.98
X 3.92
X 4.99

Question ID : 630680938234

Option 11D : 6306803677413
Option 21D : 6306803677415
Option 31D : 6306803677416
Option 41D : 6306803677414
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Q.12 Arrange the given words in the sequence in which they occur in the dictionary.

1. Magnet
2. Magic
3. Magical
4. Magnify
5. Magneto

Ans X 1.32-1-45
X 2.2-3-1-4-5
X 3.3-2-1-5-4
o 4.2-3-1-5-4

Question ID : 630680938209

Option 11D : 6306803677314
Option 2 1D : 6306803677313
Option 31D : 6306803677316
Option 4 ID : 6306803677315

Q.13 Select that missing pair (Fifth letter cluster : Sixth letter cluster) which is related in the
same way as the first letter cluster is related to the second letter cluster and third letter
cluster is related to fourth letter cluster.

KMO : IKM :: DFG: BDE :: ?
Ans X 1.BHI:ZKG
«" 2. MFK : KDI
/< 3.WRS:ZAD
< 4.PRU:NSS

Question ID : 630680938218

Option 11D : 6306803677351
Option 21D : 6306803677350
Option 31D : 6306803677352
Option 4 ID : 6306803677349

Q.14 Consider the five three digit numbers given below and the answer the questions based on it.

(Left) 891 512 341 529 875 (Right)

What will be the sum of unit’s digit of all the given three digit numbers?
Ans 4 1.18

X 2.21
X 3.17
X 4.20

Question ID : 630680937970

Option 11D : 6306803676358
Option 2 ID : 6306803676360
Option 31D : 6306803676359
Option 4 ID : 6306803676357
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Q.15 Consider the five three letter words given below and the answer the questions based on it.

(Left) CMP GAT WIN ROG ACP (Right)

If all the letters of each word are replaced by the next letter as per the English alphabetical
order, then in how many newly formed words, there will be only two vowels?

Ans X 1.3
o 2.0
< 3.1
X 4.4
Question ID : 630680938009
Option 11D : 6306803676513
Option 2 ID : 6306803676516
Option 31D : 6306803676514
Option 4 1D : 6306803676515
Q.16 After arranging the given words according to dictionary order, which word will come at ‘Fifth’
position?
1. Worn
2. Word
3. Wore
4. Work
5. World
Ans X 1.Wore
5 2. World
25 3. Work
" 4. Worn
Question ID : 630680938207
Option 11D : 6306803677307
Option 2 1D : 6306803677306
Option 31D : 6306803677308
Option 4 ID : 6306803677305
Q.17 Select the option in which the numbers shares the same relationship in set as that shared
by the numbers in the given set. (NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into its constituent digits. E.g.13 —
Operations on 13 such as adding /subtracting /multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is
not allowed)
(12, 5, 49)
(42, 27, 225)
Ans X 1.(45,16,961)
5 2.(18,19,121)
X 3.(12,14,144)
o 4.(48,44,16)
Question ID : 630680937997
Option 11D : 6306803676468
Option 2 ID : 6306803676465
Option 31D : 6306803676466
Option 4 1D : 6306803676467
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Q.18 In the following question, select the missing number from the given series.

67,69, 73,79, 87, 2

Ans X 1.96
X 2.93
X 3.99
o 4.97
Question ID : 630680938233
Option 11D : 6306803677412
Option 2 ID : 6306803677411
Option 31D : 6306803677409
Option 4 ID : 6306803677410
Q.19 By interchanging the given two signs which of the following equation will be NOT correct?
x and +
Ans X 1.8+10x20-14+16=6
K 2.52%x26+13+39-18=47
X 3.15+16x8+4-12=11
o 4.6x4:2+7-5=4
Question ID : 630680938152
Option 11D : 6306803677086
Option 2 ID : 6306803677087
Option 31D : 6306803677088
Option 4 1D : 6306803677085
Q.20 If '+' means ‘', ‘=" means '+, '+’ means ‘x’ and ‘x’ means ‘+’, then which of the following
equation is correct?
Ans X 1.40+10+100-4=50+4-100x1
< 2.350%x 50+ 10 -3 =500+300-50x5
o 3.8+9x3x1>20%x2-8x1
X 45+7+43-4>3+5-6+4
Question ID : 630680938191
Option 11D : 6306803677243
Option 2 ID : 6306803677241
Option 3 ID : 6306803677242
Option 4 1D : 6306803677244

Section : General intelligence and Reasoning Ability 2
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Q.1 Aseries is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

GA, JD, MG, PJ, ?
Ans X 1.RN

& 2.SM

X 3.RM

X 4.SN

Question ID : 630680938025

Option 11D : 6306803676579
Option 21D : 6306803676578
Option 31D : 6306803676580
Option 4 ID : 6306803676577

Q.2 In the following question, four letter pairs are given. The letters on left side of (=) is related
to the letters on the right side of (=) with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Ans 4 1.SYl- PCD
X 2. THR - RKN
< 3.0LE - MOA
X 4.FDA - DGW

Question ID : 630680938023

Option 11D : 6306803676571
Option 21D : 6306803676569
Option 31D : 6306803676572
Option 41D : 6306803676570

Q.3 Four boys P, Q, R and S are sitting in a row facing towards north. Four girls A, B, C and D are
sitting in a other row facing towards south. Boys are facing girls and vice versa. P is the
facing the girl sitting at one of the end. C is second to the left of A. B is facing Q. Q is
second to the left of S. If C is not sitting at the end, then which of the following pair of
persons depicts the person sitting at the ends of the rows?

Ans o 1.AS
/& 2.CR

X 3.BS
X 4.DQ

Question ID : 630680938200

Option 11D : 6306803677277
Option 21D : 6306803677280
Option 31D : 6306803677279
Option 41D : 6306803677278
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Q.4 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

IS, JV, KY, LB, ?

Ans X 1.NC
& 2.0D
X 3.PG
o 4 ME
Question ID : 630680937986
Option 11D : 6306803676422
Option 2 ID : 6306803676421
Option 3 ID : 6306803676424
Option 4 1D : 6306803676423
Q.5 Five persons A, B, C, D and E are sitting around a circular table facing towards the centre
(not necessarily in the same order). B is sitting second to the right of D. A is sitting second
to the right of B. C is not an immediate neighbour of A. Who is sitting immediate right of D?
Ans X 1.A
S 2.B
o 3.C
X 4E
Question ID : 630680937959
Option 11D : 6306803676316
Option 2 1D : 6306803676314
Option 3 1D : 6306803676315
Option 4 ID : 6306803676313
Q.6 Kamal is 45th from the top and 46th from the bottom in merit in the class. How many
students are there in the class?
Ans X 1.94
X 2.93
X 3.92
o 4.90
Question ID : 630680937922
Option 11D : 6306803676165
Option 21D : 6306803676167
Option 31D : 6306803676166
Option 41D : 6306803676168
Q.7 In the following question, select the odd letter/letters from the given alternatives.
Ans X 1.NPR
X 2.SUwW
o 3. WUT
X 4. HJIL
Question ID : 630680938021
Option 11D : 6306803676561
Option 2 ID : 6306803676563
Option 3 ID : 6306803676562
Option 4 1D : 6306803676564
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Q.8 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. All A are B.

Il. No P is A.

1. Some C are A.
Conclusions:

1. All C are B.

Il. All B are A.

1. Some B are C.

Ans X 1.0nly conclusion | follows
25 2. Neither conclusion follows
% 3. Only conclusion Il follows

" 4. Only conclusion Ill follows

Question ID : 630680938054

Option 11D : 6306803676693
Option 21D : 6306803676696
Option 31D : 6306803676694
Option 41D : 6306803676695

Q.9 6boys M, N, P, Q, R and S are sitting around a circular table facing towards centre (not
necessarily in the same order). M and S are immediate neighbours. Q is to the immediate

right of P. R is second to the right of Q. N is third to the left of S. Who is to the immediate
left of R?

Ans X 1.S
X 2. M
X3P
o 4N

Question ID : 630680938158

Option 11D : 6306803677111
Option 21D : 6306803677112
Option 31D : 6306803677110
Option 41D : 6306803677109

Q.10 Seven boxes E, F, G, H, |, J and K are placed one above the other. Three boxes are placed
between box F and G. Only two boxes are placed above box H. F is placed above G. As many
as boxes are placed between box K and | as between box | and E. Only one box is placed
between box K and H. The number of boxes above J is same as number of boxes below
which of the following?

Ans X 1.1
o 2.H
3. F
X 4.K

Question ID : 630680938042

Option 11D : 6306803676646
Option 21D : 6306803676648
Option 31D : 6306803676647
Option 4 ID : 6306803676645
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Q.11 In the following question, select the odd figure from the given alternatives.
Ans

x 1

x 3.

Question ID : 630680938229

Option 11D : 6306803677396
Option 2 ID : 6306803677395
Option 31D : 6306803677393
Option 4 ID : 6306803677394
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Q12 From the given option figures, select the one in which the question figure

is hidden/embedded. (rotation is not allowed)

Ans

Question ID : 630680938148

Option 11D : 6306803677072
Option 2 1D : 6306803677071
Option 31D : 6306803677069
Option 4 1D : 6306803677070

Q.13 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I.NoPisQ.

II. NoRisS.

Ill. NoQis R.
Conclusions:

l. Some S are P.
Il. Some R are P.
Ill. No Sis R.

Ans & 1. Only conclusion Ill follows
75 2. Only conclusion Il follows
/< 3. 0nly conclusion | follows

/< 4. Neither conclusion follows

Question ID : 630680938095

Option 11D : 6306803676859
Option 21D : 6306803676858
Option 31D : 6306803676857
Option 41D : 6306803676860
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Q14 From the given option figures, select the one in which the question figure is

hidden/embedded. (rotation is not allowed)

NN

Ans

wal

7
- P
2

Question ID : 630680938108

Option 11D : 6306803676910
Option 21D : 6306803676911
Option 31D : 6306803676909
Option 41D : 6306803676912

Q.15 In the following question, select the odd letter/letters from the given alternatives.
Ans X 1.XZA

X 2. KMN
25 3. UWX
o 4. PRT

Question ID : 630680937940

Option 11D : 6306803676237
Option 2 ID : 6306803676240
Option 31D : 6306803676238
Option 41D : 6306803676239
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Q.16 6 boys A, B, C, D, E and F live in a six-fl oor building (not necessarily in the same order).
Lowermost floor is numbered 1, floor above it is numbered 2 and so on till the topmost floor
which is numbered 6. No two persons live on the same floor. F lives on an odd numbered
floor. Three persons live between A and B. Only A and F lives above D. C lives on an prime
numbered floor. How many persons lives below D?

Ans X 1.Four
2. Two

5 3. Five
" 4. Three

Question ID : 630680938163

Option 11D : 6306803677130
Option 21D : 6306803677129
Option 31D : 6306803677132
Option 41D : 6306803677131

Q.17 In the following question, group of letter clusters is given. The letter clusters of each group
are related with the other letter clusters of the same group by some Logic/Rule/Relation.
From the given alternatives, select the group of letter clusters which follows the same
Logic/Rule/Relation.

(YB, XZ, WX)
(al, PG, OE)

Ans X 1.(JZ, W, HU)
X 2.(0C, NZ, MX)
7 3. (PT,0Q,NO)
& 4. (VD, UB, T2)

Question ID : 630680938179

Option 11D : 6306803677196
Option 21D : 6306803677194
Option 31D : 6306803677193
Option 4 ID : 6306803677195

Q.18 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:

I. Some B are A.

1. All A are P.

I1l. All P are Q.
Conclusions:

. Some B are Q.

Il. Some P are not B.
1ll. Some Q are not A.

Ans X 1.0nly conclusion Il follows
4" 2. Only conclusion | follows
2% 3. Only conclusion Il follows

& 4. Neither conclusion follows

Question ID : 630680938094

Option 11D : 6306803676854
Option 21D : 6306803676853
Option 31D : 6306803676855
Option 41D : 6306803676856
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Q.19 In the following question, select the odd letter/letters from the given alternatives.
Ans 4 1. JLN

X 2.EHJ
2 3.CFH
X 4. ADF

Question ID : 630680937982

Option 11D : 6306803676406
Option 21D : 6306803676407
Option 31D : 6306803676408
Option 4 1D : 6306803676405

Q.20 A series is given with one term missing. Select the correct alternative from the given ones
that will complete the series.

MZ, KW, IT, GQ, EN, ?
Ans X 1.DL

X 2.cL

X 3.DK
o 4.CK

Question ID : 630680937984

Option 11D : 6306803676416
Option 21D : 6306803676413
Option 31D : 6306803676415
Option 41D : 6306803676414

Section : General Awareness 1

Q.1 Krishnat Khot received the Sahitya Akademi Award 2023 for which Marathi literary work?
Ans X 1.Kadachit Ajoonahi

/5 2. Udya
" 3. Ringaan
% 4. Ujavya Sondechya Bahulya

Question ID : 630680939528

Option 11D : 6306803682538
Option 21D : 6306803682537
Option 31D : 6306803682535
Option 41D : 6306803682536
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Q.2 The snow leopard (Panthera uncia) is listed under which schedule of the Wildlife
(Protection) Act 1972?

Ans X 1.Schedulelll
25 2. Schedule Il
«” 3. Schedule |
/5 4. Schedule IV

Question ID : 630680939473

Option 11D : 6306803682317
Option 21D : 6306803682316
Option 31D : 6306803682315
Option 4 ID : 6306803682318

Q.3 In which state is Moh-Moi festival celebrated?
Ans X 1. Andhra Pradesh

/% 2. Madhya Pradesh
/% 3. Kerala
" 4. Arunachal Pradesh

Question ID : 630680939572

Option 11D : 6306803682712
Option 21D : 6306803682713
Option 31D : 6306803682711
Option 4 ID : 6306803682714

Q.4 ‘Dhara: Ode to Indian Knowledge Systems’ is a flagship initiative of which of the following
ministries?

Ans 1. Ministry of Culture
/< 2. Ministry of Finance
/< 3. Ministry of Education
/5 4. Ministry of Home Affairs

Question ID : 630680939394

Option 11D : 6306803682000
Option 2 1D : 6306803682002
Option 31D : 6306803681999
Option 4 ID : 6306803682001

Q.5 Researchers from which of the following institutes partnered with Defense Research and
Development Organization (DRDO) scientists to develop sensor technology for underwater
communications in May 2023?

Ans " 1.1IT Madras
< 2. 1IT Mumbai
25 3. 1IT Kanpur
X 4.1IT Delhi

Question ID : 630680939438

Option 11D : 6306803682177
Option 21D : 6306803682178
Option 31D : 6306803682176
Option 4 ID : 6306803682175
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Q.6 Accumulation of high concentration of
Ans X 1.Nitrogen

has led to the phenomenon of global warming.

" 2. Carbon dioxide
2% 3. Carbon monoxide
5 4. Oxygen

Question ID : 630680939629

Option 11D : 6306803682940
Option 21D : 6306803682942
Option 31D : 6306803682941
Option 41D : 6306803682939

Q.7 In which city was India's first 'Police Drone Unit' launched in June 2023?
Ans X 1.Pune

" 2. Chennai
#5 3. Bhopal
25 4. Chandigarh

Question ID : 630680939435

Option 11D : 6306803682166
Option 21D : 6306803682165
Option 31D : 6306803682164
Option 4 ID : 6306803682163

Q.8 Which of the following is helpful for exploring and mapping the ocean?

. SONAR
Il. RADAR

Ans X 1.0nlyll
25 2. Neither I nor Il

" 3.0nly |
/% 4.Bothlandll

Question ID : 630680939468

Option 11D : 6306803682296
Option 21D : 6306803682298
Option 31D : 6306803682295
Option 4 1D : 6306803682297

Q.9 In which of the following cities of India, regional language centre is NOT located?
Ans o 1. Karnal

25 2. Mysore
5 3. Guwahati
5 4. Patiala

Question ID : 630680939569

Option 11D : 6306803682702
Option 21D : 6306803682699
Option 31D : 6306803682701
Option 41D : 6306803682700
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Q.10 In which city of India was the first commercial building using 3D printing technology
inaugurated in August 2023?

Ans X 1.Chennai
25 2. Pune
#% 3. Hyderabad
«# 4. Bengaluru

Question ID : 630680939478

Option 11D : 6306803682336
Option 21D : 6306803682338
Option 31D : 6306803682337
Option 4 ID : 6306803682335

Q.11 When the litmus solution is neither acidic nor basic, its colour is
Ans X 1.Blue

25 2.Red

" 3. Purple
5 4. Green

Question ID : 630680939504

Option 11D : 6306803682441
Option 2 1D : 6306803682439
Option 31D : 6306803682440
Option 4 1D : 6306803682442

Q.12 Which of the following is used in the manufacture of borax?
Ans & 1. Washing Soda

/% 2. Calcium Phosphate
/% 3. Baking Soda
75 4. Chlorine

Question ID : 630680939624

Option 11D : 6306803682921
Option 21D : 6306803682919
Option 31D : 6306803682920
Option 41D : 6306803682922

Q.13 Which of the following is a popular festival of West Bengal that is celebrated throughout
India in September or October?

Ans X 1.Baishagu
5 2.Bihu
/% 3. Poila Baishakh
" 4. Durga Puja

Question ID : 630680939371

Option 11D : 6306803681910
Option 21D : 6306803681909
Option 31D : 6306803681907
Option 41D : 6306803681908
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Q.14 Who among the following is known as the 'Patron Saint of Amphibians'?
Ans X 1. Alok Bhattacharya

" 2. Sathyabhama Das Biju
/% 3. Ganesh Nagaraju
25 4. Rameshwar Nath Koul

Question ID : 630680939512

Option 11D : 6306803682472
Option 21D : 6306803682473
Option 31D : 6306803682474
Option 41D : 6306803682471

Q.15 Which tribal language is spoken by indigenous communities in Kanyakumari and Tirunelveli
regions of Tamil Nadu?

Ans  # 1. Kanikkaran
/5 2.Toda

X 3. A0
25 4. Urali

Question ID : 630680939409

Option 11D : 6306803682062
Option 21D : 6306803682060
Option 31D : 6306803682061
Option 41D : 6306803682059

Q.16 Soundarya, is the first Al news anchor of which regional language of India?
Ans o 1. Kannada

/5 2. Bengali

5 3. Telugu
X 4. Hindi

Question ID : 630680939399

Option 11D : 6306803682019
Option 21D : 6306803682020
Option 31D : 6306803682022
Option 41D : 6306803682021

Q.17 Which of the following state legislative assemblies of India adopted the SC/ST (Prevention
of Transfer of Certain Lands (Amendment)) Bill in July 2023, which seeks to impose a "time
limit" on preventing transfer of lands granted to SC/ST communities?

Ans X 1.Assam
" 2. Karnataka
% 3. Madhya Pradesh
5 4. Punjab

Question ID : 630680939596

Option 11D : 6306803682807
Option 21D : 6306803682809
Option 31D : 6306803682808
Option 41D : 6306803682810
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Q.18 Where in India is the first-ever night street racing circuit located?
Ans X 1.Patna

5 2. Goa
" 3. Chennai
25 4. Nagpur

Question ID : 630680939391

Option 11D : 6306803681990
Option 21D : 6306803681988
Option 31D : 6306803681987
Option 41D : 6306803681989

Q.19 The ASEAN-India Summit 2023 was held in which of the following city?
Ans o 1. Jakarta

/< 2. Dubai
5 3. Hanoi
25 4. Bangkok

Question ID : 630680939550

Option 11D : 6306803682625
Option 21D : 6306803682626
Option 31D : 6306803682623
Option 4 ID : 6306803682624

Q.20 In which zoo of the United States of America, a unique giraffe without spots was born in
July 20237

Ans & 1. Brights Zoo, Tennessee
25 2. Bronx Zoo, New York
2% 3. Denver Zoo, Colorado
#5 4. San Diego Zoo, California

Question ID : 630680939472

Option 11D : 6306803682313
Option 21D : 6306803682311
Option 31D : 6306803682314
Option 41D : 6306803682312

Section : General Awareness 2

Q.1 What is the width of the Himalayas in Kashmir?
Ans X 1.150 km

% 2.600 km
& 3.400 km
X 4.700 km

Question ID : 630680939573

Option 11D : 6306803682715
Option 21D : 6306803682717
Option 31D : 6306803682716
Option 41D : 6306803682718
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Q.2 Which Sultan of Delhi was defeated by Babur in 1526 CE at Panipat?
Ans X 1.Khizr Khan

" 2. Ibrahim Lodi
< 3. Bahlul Lodi
% 4. Firuz Shah Tughlug

Question ID : 630680939366

Option 11D : 6306803681888
Option 21D : 6306803681890
Option 31D : 6306803681889
Option 41D : 6306803681887

Q.3 According to the Constitution of India, who among the following is the protector of the
fundamental rights of the citizen?

Ans X 1.President
¥ 2. Supreme court
2% 3. Chief justice of India
25 4. Parliament

Question ID : 630680939501

Option 11D : 6306803682430
Option 2 1D : 6306803682428
Option 31D : 6306803682429
Option 4 ID : 6306803682427

Q.4 Agra and Darjeeling are located on the same latitude, but temperature of January in Agra is

16°C whereas it is only 4°C in Darjeeling. Their climate difference is due to which of the
following?

Ans X 1. Effect of Western disturbance
< 2. Distance from sea
#5 3. Difference in air pressure

" 4. Difference in their altitude

Question ID : 630680939496

Option 11D : 6306803682410
Option 21D : 6306803682407
Option 31D : 6306803682408
Option 4 1D : 6306803682409

Q.5 What is the average annual growth rate of India’s population as per the 2011 census?
Ans X 1.2.89%

% 2.0.89%
& 3.1.63%
X 4.213%

Question ID : 630680939417

Option 11D : 6306803682094
Option 21D : 6306803682091
Option 31D : 6306803682092
Option 41D : 6306803682093
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Q.6 Which of the following is a type of Brown algae?
Ans X 1. Volvox

25 2. Chlamydomonas
" 3. Laminaria

2% 4. Spirogyra

Question ID : 630680939385

Option 11D : 6306803681966
Option 21D : 6306803681963
Option 31D : 6306803681965
Option 4 ID : 6306803681964

Q.7 Ladakh's high altitudes are home to which of the following animals?

1. Yak
1. Kiang

Ans X 1.0nlyll
" 2.Bothland Il
25 3. Neither I nor Il
/< 4.0nly|

Question ID : 630680939335

Option 11D : 6306803681764
Option 21D : 6306803681765
Option 31D : 6306803681766
Option 41D : 6306803681763

Q.8 Who among the following is included in the Parliament of India?

I. The President
Il. The Rajya Sabha
I1l. The Lok Sabha

Ans X 1.0nlyllandlll
25 2.0nlyland II
25 3.0nly land Il
& 4.1, 1land Il

Question ID : 630680939463

Option 11D : 6306803682276
Option 21D : 6306803682275
Option 31D : 6306803682277
Option 41D : 6306803682278
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Q.9 Which of the following fundamental rights does NOT come under the “Right to Freedom of
Religion” provided by the Indian Constitution?

Ans " 1. Right of minorities to establish educational institutions
725 2. Freedom to manage religious affairs
/% 3. Freedom of conscience and free profession, practice and propagation of religion

5 4. Freedom to pay taxes for promotion of any particular religion

Question ID : 630680939620

Option 11D : 6306803682905
Option 2 1D : 6306803682904
Option 31D : 6306803682903
Option 4 ID : 6306803682906

Q.10 Periodically, banks have to give information to which of the following institution in India
about how much loan they are giving, to whom, at what interest rate?

Ans X 1.Finance Ministry
2 2. Securities and Exchange Board of India
/% 3. State Bank of India

" 4. Reserve Bank Of India

Question ID : 630680939482

Option 11D : 6306803682353
Option 21D : 6306803682352
Option 3 1D : 6306803682354
Option 4 ID : 6306803682351

Q.11 Which of the following laws states that marginal utility from consuming each additional unit
of a commodity declines as its consumption increases, while keeping consumption of other
commodities constant?

Ans & 1. Law of Diminishing Marginal Utility
& 2. Law of competition
2 3. Law of Demand

% 4. Concept of opportunity cost

Question ID : 630680939561

Option 11D : 6306803682668
Option 21D : 6306803682669
Option 31D : 6306803682667
Option 41D : 6306803682670

Q.12 In which year was the Khalsa College, Amritsar, established?
Ans X 1.1872

X 2.1862
o 3.1892
X 4.1882

Question ID : 630680939523

Option 11D : 6306803682516
Option 21D : 6306803682515
Option 31D : 6306803682518
Option 4 ID : 6306803682517
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Q.13 Who was the founder of the Brahmo Samaj?
Ans X 1.Ishwarchandra Vidyasagar

" 2. Raja Rammohun Roy
5 3. Swami Dayanand Saraswati

25 4. Swami Vivekananda

Question ID : 630680939323

Option 11D : 6306803681717
Option 21D : 6306803681716
Option 31D : 6306803681715
Option 41D : 6306803681718

Q.14 Which of the following states is NOT included in the Ganga plain?
Ans X 1. Uttar Pradesh

/5 2. Haryana
#5 3. Bihar
w” 4. Assam

Question ID : 630680939493

Option 11D : 6306803682397
Option 2 1D : 6306803682395
Option 31D : 6306803682398
Option 4 1D : 6306803682396

Q.15 Which of the following are the first terrestrial plants to possess vascular tissues?
Ans X 1.Gymnosperm

" 2. Pteridophyte
& 3. Moss
X 4. Bryophytes

Question ID : 630680939586

Option 11D : 6306803682768
Option 21D : 6306803682770
Option 31D : 6306803682767
Option 4 ID : 6306803682769

Q.16 Which of the following Schedule contains provisions regarding administration of tribal areas
in the states of Assam, Meghalaya, Tripura and Mizoram?

Ans X 1. Fourth schedule
25 2. First schedule
25 3. Third schedule
¥ 4. Sixth schedule

Question ID : 630680939623

Option 11D : 6306803682917
Option 2 ID : 6306803682915
Option 31D : 6306803682916
Option 41D : 6306803682918
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Q.17 Who among the following was the ruler of Delhi during the period 1266-1287?
Ans X 1.Ghiyasuddin Tughlug

" 2. Ghiyasuddin Balban
25 3. Muhammad Tughluq
% 4. Firuz Shah Tughlug

Question ID : 630680939605

Option 11D : 6306803682843
Option 21D : 6306803682844
Option 31D : 6306803682845
Option 4 1D : 6306803682846

Q.18 According to NSS (National Sample Survey) 2011-12, what percentage of female workers in
rural India is self-employed?

Ans X 1.235
o 2.59.3
% 3.66.7
X 4.42.4

Question ID : 630680939418

Option 11D : 6306803682095
Option 21D : 6306803682097
Option 31D : 6306803682098
Option 41D : 6306803682096

Q.19 National development dairy model was set up in which of the following year?
Ans X 1.1952

X 2.1959
& 3.1965
X 4.1944

Question ID : 630680939601

Option 11D : 6306803682828
Option 2 1D : 6306803682829
Option 31D : 6306803682830
Option 41D : 6306803682827

Q.20 Which of the following is Cultural and Educational Rights provided by Indian constitution?
Ans X 1. Equality of opportunity in public employment

25 2. Abolition of titles
«# 3. Protection of language, culture of minorities

25 4. Freedom of speech and expression

Question ID : 630680939420

Option 11D : 6306803682103
Option 2 ID : 6306803682104
Option 31D : 6306803682106
Option 41D : 6306803682105

Section : Arithmetical and Numerical Ability 1
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Q.1 Ifthe difference between the two numbers is 80 percent of their sum, then what is the ratio of larger number and smaller
number?

Ans X1 11:1
W2 9:1
K35:3
X4 7:2

Question ID : 630680937749

Option 11D : 6306803675479
Option 21D : 6306803675480
Option 31D : 6306803675478
Option 4 ID : 6306803675477

Q.2 What should be added to 50 percent of 450 so that the obtained number is equal to 70 percent of 360?
Ans X117

2 27

X3 37

X4 47

Question ID : 630680937708

Option 11D : 6306803675313
Option 2 ID : 6306803675314
Option 31D : 6306803675315
Option 4 ID : 6306803675316

Q3 Among /11— /9, A7 — /5, +f13 — /11, +f10 — /8 Wwhich is the greatest?
Ans X1 JI3 A1

X2 0B

SINTEN

ORI AN

Question ID : 630680937586

Option 11D : 6306803674827
Option 21D : 6306803674828
Option 31D : 6306803674825
Option 41D : 6306803674826
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Q.4 _ .
If {ES)EK 3 = ( 125]2, then what is the value of x7
Ans 1.3
X202
X3 8
P |
Question ID : 630680937587
Option 11D : 6306803674832
Option 21D : 6306803674829
Option 31D : 6306803674831
Option 4 1D : 6306803674830
Q.5 The average marks obtained by 60 students in an examination is 75. If the average marks of the students who passed is
105 and the average marks of the students who failed is 65, then what is the number of students who failed in the
examination?
Ans X150
X2 57
X3 52
o 4 45
Question ID : 630680937613
Option 11D : 6306803674935
Option 21D : 6306803674933
Option 31D : 6306803674934
Option 41D : 6306803674936
Q6 What is the value of 218 — 142 + 134 + 112 — 412 + 99?
Ans W 1.0
X211
<313
x4 7
Question ID : 630680937582
Option 11D : 6306803674810
Option 2 ID : 6306803674811
Option 31D : 6306803674812
Option 41D : 6306803674809
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Q.7  The average of 200 results is 97. If 4 is subtracted from each result, then what will be the new average of the results?

Ans X 1 035
¥ 2 93
X3 92
X 4. 0]
Question ID : 630680937691
Option 11D : 6306803675248
Option 2 1D : 6306803675246
Option 31D : 6306803675247
Option 4 1D : 6306803675245
Q.8 .
If Xx =A/81 +-/64 —~/100, then what is the value of x2?
Ans X' 1. 64
2 49
X3 16
X4 36

Question ID : 630680937664

Option 11D : 6306803675139
Option 21D : 6306803675138
Option 31D : 6306803675140
Option 4 1D : 6306803675137

Q.9 Abhishek marks the price of his laptop 60 percent above the cost price. He allows his customer a discount of 20 percent
on the marked price. What is the profit percentage?

Ans  #1. 28 percent
X 2. 40 percent
X< 3. 30 percent
X 4. 20 percent

Question ID : 630680937794

Option 11D : 6306803675658
Option 21D : 6306803675657
Option 31D : 6306803675659
Option 41D : 6306803675660
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Q.10 Ashopkeeper purchased a chair whose marked price is Z 9400, at two successive discount of 15 percent and 40 percent.
If he sells the chair for Z 6232.20, then what is the profit percentage?

Ans  X'1. 25 percent
X 2. 20 percent
X 3. 35 percent
« 4. 30 percent

Question ID : 630680937755

Option 11D : 6306803675503
Option 21D : 6306803675502
Option 31D : 6306803675504
Option 41D : 6306803675501

Q1 5 2 7 .
If — - — =—, then what is the value of A?
12 A 36
Ans X1 11
X212
X3 7

¥4 9

Question ID : 630680937663

Option 11D : 6306803675135
Option 21D : 6306803675134
Option 31D : 6306803675133
Option 41D : 6306803675136

Q.12 The line chart given below shows the production of cars by two companies T and M in the given 6 years.

420

100 7o 8o

Yl Y2 Y3 Y4 Y5 Y6

——7 iy

P — Average production of T in the given 6 years.

Q — Average production of M in the given 6 years.
What is the approximate value of g ?

Ans  X'1. 1.0

2 1.27

X3 1.34

X4 1.48

Question ID : 630680937661

Option 11D : 6306803675128
Option 21D : 6306803675125
Option 31D : 6306803675126
Option 41D : 6306803675127
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Q.13 The bar graph given below shows the production of shoes in 5 different factories.
| 041
816

-
702 679 729

F1 F2 F3 F4 F5

What is the ratio of production of shoes in factories F1 and F2?
Ans 71 117 : 136

X 2.120: 131
X3.119:121
X4 136: 117

Question ID : 630680937619

Option 11D : 6306803674958
Option 21D : 6306803674959
Option 3 1D : 6306803674957
Option 4 ID : 6306803674960

Q.14 Pinvested 2 500 for 2 years at compound interest (compounded annually) in a company which paid him total
interest of ¥ 105. What will be the annual rate of interest at which P invested his money?

Ans 1. O percent
« 2. 10 percent
X 3. 12 percent
X 4. 14 percent

Question ID : 630680937777

Option 11D : 6306803675592
Option 21D : 6306803675590
Option 31D : 6306803675589
Option 4 1D : 6306803675591
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Q.15

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680937744

6306803675458
6306803675457
6306803675460
6306803675459

Q.16 The given pie chart shows expenditure of a family for a particular month under different heads as percentages of the
total expenditure for the month which was Rs. 72000.

Rent
20%
Food
37%

Fuel
15%

Education
13%

The expenditure incurred on food is approximately how much percent more than the expenditure incurred on education?

Ans 1. 184.62 percent
X 2. 170.62 percent
X 3. 179.80 percent

X 4. 168.33 percent

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680937658

6306803675115
6306803675116
6306803675113
6306803675114
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Q.17 Average age of a group of 45 boys is 29 years. A boy having age 27 years leaves the group. A new boy joins the group
and the average increases by | year. What is the age of the new boy?

X 1. 76 years
X 2. 74 vears

Ans

X 3. 78 years
o 4. T2 years

Question ID : 630680937772

Option 11D : 6306803675572
Option 2 ID : 6306803675571
Option 31D : 6306803675570
Option 4 1D : 6306803675569

Q.18 Ifat compound interest (compounding annually) a certain sum becomes 4 times of itself in 5 years, then in how many
years will it become 16 times of itself?

Ans 1. 12 years

« 2. 10 years
X 3. 15 years
X 4. 13 years

Question ID : 630680937656

Option 11D : 6306803675106
Option 21D : 6306803675108
Option 31D : 6306803675105
Option 4 1D : 6306803675107

Q.19 Ramscored 10 percent marks in an exam and failed by 30 marks. If he scores 40 percent marks, then he gets 9 marks
more than passing marks. What should be the passing marks for the exam?

Ans X 1. 45
X2 44
X3 46
V4 43

Question ID : 630680937751

Option 11D : 6306803675486
Option 21D : 6306803675485
Option 31D : 6306803675487
Option 41D : 6306803675488
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Q.20 The bar graph given below shows the expenditure (in ) on five articles by two persons, P and Q.

78
70 75
65 65
54 o8
45 45
35
A B C D E
OopP  EQ
What is the average expenditure (in ¥) on articles B, C and D by person P?

Ans 1. 58.33
X 2. 59.99
X3 56.95
X 4. 57.33

Question ID : 630680937780

Option 11D : 6306803675602
Option 2 1D : 6306803675604
Option 31D : 6306803675603
Option 4 ID : 6306803675601

Section : Arithmetical and Numerical Ability 2

Q.1 Two cubes, each of edge 8 cm, are joined to form a single cuboid. What is the total surface area of the cuboid thus
formed?

X1 520 em?
X2 580 cm?

Ans

3 640 cm?

X4 720 em?

Question ID : 630680937648

Option 11D : 6306803675075
Option 21D : 6306803675073
Option 3 1D : 6306803675074
Option 4 ID : 6306803675076
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Q.2 Three parmers X, Y and Z share profit such that 5 times of the X's share is equal to 4 times of the Y’s share and equal to
8 times of the Z°s share. What is the ratio of the profits of X, Y and Z respectively?

Ans  X1.8:10:3
X26:10:5
X3.7:10:5
w4 Br10:5
Question ID : 630680937718
Option 11D : 6306803675353
Option 21D : 6306803675356
Option 31D : 6306803675354
Option 4 ID : 6306803675355
Q.3 The sum of the length, the breadth and the height of a closed cuboid is 22 cm. If its diagonal is 13 cm long, then what is
the total surface area of the cuboid?
A K 236 om?
¥ 2 315 cm?
X3 279 cm?
X4 356 cm?
Question ID : 630680937566
Option 11D : 6306803674748
Option 2 ID : 6306803674745
Option 31D : 6306803674747
Option 41D : 6306803674746
Q.4  The length of a diagonal of a quadrilateral is 14 cm. The lengths of the perpendiculars drawn on this diagonal from the
other two vertices of the given quadrilateral are 12 cm and 8 cm respectively. What is the area of the quadrilateral?
Ans
< 140 cm?
X2 70 cm?
X3 90 cm?
#4120 cm?
Question ID : 630680937690
Option 11D : 6306803675244
Option 2 ID : 6306803675241
Option 31D : 6306803675243
Option 4 ID : 6306803675242
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Q.5  When a wire is bent in the form of a square, then the area enclosed by it is 4356 em?. If the same wire is bent into the
form of a circle, then what will be the area enclosed by the wire? [Use n= ?]

Ans

X 1. 4855 cm?
<2 6622 cm?
# 33954 cm?
¥ 4 5544 cm?

Question ID : 630680937569

Option 11D : 6306803674760
Option 21D : 6306803674758
Option 31D : 6306803674759
Option 4 1D : 6306803674757

Q.6  Ais twice as efficient as B. If A and B together can complete a piece of work in 30 days. then in how many days can A
alone complete the same piece of work?

Ans % 1. 90 days
X 2. 30 days
X 3. 60 days
o 4. 45 days

Question ID : 630680937600

Option 11D : 6306803674882
Option 21D : 6306803674881
Option 31D : 6306803674883
Option 41D : 6306803674884

Q.7 Ifthe price of tables is increased by 90 percent, then a person can buy 81 tables less for Rs. 110295. What is the original
price of a table?

Ans 1. Rs. 645
X 2. Rs. 640
X 3. Rs. 650
X 4 Rs. 635

Question ID : 630680937550

Option 11D : 6306803674684
Option 21D : 6306803674683
Option 31D : 6306803674681
Option 41D : 6306803674682
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Q.8 Each of the length, the breadth and the height of a cuboid is decreased by 9 percent. What is the percentage decrease in
the total surface area of the cuboid?

Ans 1. 17.19 percent
X 2. 19.46 percent
X 3. 15.26 percent
X 4. 22.78 percent

Question ID : 630680937647

Option 11D : 6306803675070
Option 21D : 6306803675071
Option 31D : 6306803675069
Option 41D : 6306803675072

Q.9 Two trains are moving in the same direction at the speed of 54 kmv/hr and 120 kmv/hr, respectively, and their lengths are
320 metres and 560 metres respectively. What will be the time taken by the faster train to cross the slower train?

Ans X1, 60 seconds
X 2. 54 seconds
< 3. 32 seconds
« 4 48 seconds

Question ID : 630680937722

Option 11D : 6306803675369
Option 21D : 6306803675370
Option 31D : 6306803675372
Option 41D : 6306803675371

Q.10 The ratio of milk to water in three cups is 7 : 5,9 : 4 and 2 : 9 respectively. 24 liters of first cup and 26 liters of second

cup are taken. How much quantity from third cup is to be taken so that final mixture from the three cups will have milk
and water in ratio 1 : 1?

Ans 1. 28 litres
X 2. 12 litres
X 3. 18 litres
« 4 22 litres

Question ID : 630680937719

Option 11D : 6306803675357
Option 21D : 6306803675358
Option 31D : 6306803675360
Option 41D : 6306803675359
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Q.11 The ratio of two numbers is 6 : 13. If the sum of these numbers is 190, then what is the value of the smaller number?

Ans X 1. 190
X2 130
X 3170
« 4 60

Question ID : 630680937597

Option 11D : 6306803674871
Option 21D : 6306803674870
Option 31D : 6306803674872
Option 4 1D : 6306803674869

Q.12 Inaschool there are a total of 325 students (both boys and girls together). The respective ratio of boys and girls is 7 : 6.
If 25 more boys get admitted into the school, then what will be the new ratio of boys and girls respectively?

Ans 1413

X2 8:3
X3 4:5
X42:3

Question ID : 630680937636

Option 11D : 6306803675026
Option 2 ID : 6306803675028
Option 31D : 6306803675025
Option 4 ID : 6306803675027

Q.13 The length of a cuboid is seven times of its breadth and the height of the cuboid is six times of its breadth. If the breadth
of the cuboid is 2 cm. then what is the total surface area of the cuboid?

Ans X1 600 cm?
X2 560 cm?
X3 380 cm?

4 440 em?

Question ID : 630680937565

Option 11D : 6306803674741
Option 2 ID : 6306803674744
Option 31D : 6306803674742
Option 4 ID : 6306803674743
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Q.14 Asum of Rs. 10000 is invested at 20 percent simple interest per annum. If Rs. 4000 is the accrued interest. then for how
many months is the sum invested?

Ans 1. 24 months
X 2. 30 months
X 3. 18 months
X 4. 28 months

Question ID : 630680937534

Option 11D : 6306803674619
Option 21D : 6306803674618
Option 31D : 6306803674617
Option 4 ID : 6306803674620

Q.15 Ona watch, the profit earned is 452 percent of the cost price. If the cost price increases by 20 percent but the selling
price remains the same as before, then what will be the new profit percentage?

Ans 1. 350 percent
« 2. 300 percent
X 3. 460 percent
X 4. 300 percent

Question ID : 630680937593

Option 11D : 6306803674853
Option 2 ID : 6306803674855
Option 31D : 6306803674854
Option 41D : 6306803674856

Q.16 Ifa person earns 33.33 percent profit on selling price, then what will be his profit percentage on cost price?

Ans 1. 25 percent

« 2. 50 percent
X 3. 100 percent
X 4. 17.5 percent

Question ID : 630680937752

Option 11D : 6306803675492
Option 21D : 6306803675490
Option 31D : 6306803675489
Option 4 1D : 6306803675491
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Q.17 Cyecling at the speed of § kim/hr, Rakesh covers a certain distance in 4 hours and 30 minutes. If he covers the same
distance on foot in 9 hours, then what is his speed while walking?

X< 3. Both I and II
« 4. NWeither I nor IT

Ans X 1. 6 km/hr
X 2. 10 km/hr
A 3. 8 kimv/hr
« 4 4 ki/hr
Question ID : 630680937563
Option 11D : 6306803674736
Option 21D : 6306803674733
Option 31D : 6306803674734
Option 4 1D : 6306803674735
Q.18 3 , 3
A can complete < part of a work in 54 days. B can complete P part of the same
work in 40.5 days. Which of the following statements is /are correct?
I. A is less efficient than B.
II. A and B working together can complete 11/15 part of the same work in 54 days.
Ans X 1. Only II
X 2 OnlyI

Question ID : 630680937521
Option 11D : 6306803674566
Option 2 ID : 6306803674565
Option 31D : 6306803674567
Option 41D : 6306803674568
Q.19 Two places J1 and J2 are 620 km apart from each other. Sanju and Raman starts moving from J1 towards J2 at the same
time. After reaching J2, they have to return back to J1. Speed of Sanju is 35 kin/hr more than the Raman. If they meet
after 8 hours. then which of the following statement(s) is/are correct?
I Distance covered by Sanju is 860 km.
II. Speed of Raman is 60 km/hr.
Ans  X'1. Both I and II
2. Only I
X3 OnlyI
X 4. Neither I nor II
Question ID : 630680937804
Option 11D : 6306803675699
Option 21D : 6306803675698
Option 31D : 6306803675697
Option 4 ID : 6306803675700
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Q.20 If the time period increases by 9 years, then simple interest increases by 3600 on a sum of 2 1600. What is the annual
rate of interest?

Ans X 1. 24 percent
X 2. 20 percent
« 3. 25 percent

X 4. 22 percent

Question ID : 630680937694

Option 11D : 6306803675257
Option 21D : 6306803675260
Option 31D : 6306803675259
Option 41D : 6306803675258

Section : Test of English Language and Comprehension 1

Q.1 Fill in the blank with the correct part of speech:

| went to the library
Ans X 1.because

study for the exam.

" 2.in order to
5 3. for
X 4. but

Question ID : 630680938474

Option 11D : 6306803678323
Option 21D : 6306803678326
Option 31D : 6306803678324
Option 41D : 6306803678325

Q.2 Choose the option which is synonym of the word "generous” in the sentence given below:

The farmer had a generous harvest this year.
Ans X 1. demented

25 2. scarce
5 3. meagre
«# 4. bountiful

Question ID : 630680938318

Option 11D : 6306803677750
Option 21D : 6306803677748
Option 31D : 6306803677749
Option 41D : 6306803677747
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Q.3 Choose the option which is antonym of the word ' benevolent ' in the sentence given below:

He was a benevolent king who cared for his people and their welfare.
Ans X 1.noble

5 2. generous
< 3.kind
" 4. cruel

Question ID : 630680938319

Option 11D : 6306803677753
Option 2 1D : 6306803677752
Option 31D : 6306803677754
Option 4 ID : 6306803677751

Q.4 Fill in the blank with correct part of speech:

He is a very
Ans o 1. introverted

person, he rarely goes out and doesn't like talking to people.

5 2. extroverted
5 3. Retarded
<5 4. Smart

Question ID : 630680938392

Option 11D : 6306803678019
Option 21D : 6306803678020
Option 31D : 6306803678021
Option 41D : 6306803678022

Q.5 Select the word segment that substitutes (replaces) the bracketed idiom correctly and
completes the sentence meaningfully.

She (cut corners) to save money on the renovation project.
Ans X 1.increased the budget

2% 2. used scissors
" 3. reduced quality
/% 4. Bargained

Question ID : 630680938528

Option 11D : 6306803678528
Option 2 ID : 6306803678527
Option 31D : 6306803678530
Option 4 ID : 6306803678529
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Q.6 Rearrange the following sentences to form a coherent paragraph and choose the correct
sequence from the options given below:

A. He initiated World War Il in Europe by invading Poland on 1 September 1939 and was
central to the Holocaust, the genocide of about six million Jews and millions of other
victims.

B. Adolf Hitler was a German politician and leader of the Nazi Party, dfi cially known as the
National Socialist German Workers’ Party.

C. He rose to power as the chancellor of Germany in 1933 and then as Fiihrer in 1934.
During this period, he abolished democracy, espoused a form of fascism, and pursued a
foreign policy aimed at creating a “Greater German Reich”.

D. He commiitted suicide in his Berlin bunker on 30 April 1945, after the Red Army captured
the city.

Ans X 1.DBCA
< 2. ABCD
& 3.BCAD
X 4.CBAD

Question ID : 630680938310

Option 11D : 6306803677718
Option 21D : 6306803677715
Option 31D : 6306803677716
Option 41D : 6306803677717

Q.7 Choose the option which is synonym of the word "genuine" in the sentence given below:

He was a genuine friend who always supported me.
Ans X 1.deceptive

¥ 2. sincere
/5 3. dishonest

25 4. questionable

Question ID : 630680938406

Option 11D : 6306803678078
Option 21D : 6306803678076
Option 31D : 6306803678077
Option 41D : 6306803678075

Q.8 Choose the correct one-word substitution for the sentence/phrase given below:

an institution to which young offenders are sent as an alternative to prison
Ans X 1.convent

o 2. reformatory

5 3. monastery

X 4. jail

Question ID : 630680938570

Option 11D : 6306803678684
Option 21D : 6306803678685
Option 31D : 6306803678683
Option 41D : 6306803678686
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Q.9 Fill in the blank with the appropriate article:

He bought some
Ans X 1.a

X 2. the
X 3.an

" 4.no article

oranges from the supermarket.

Question ID : 630680938471

Option 11D : 6306803678311
Option 21D : 6306803678313
Option 31D : 6306803678312
Option 4 ID : 6306803678314

Q.10 Fill in the blank with the appropriate article:

She works for United Nations.
Ans X 1.a

25 2.no article
o 3.the
X 4.an

Question ID : 630680938519

Option 11D : 6306803678491
Option 2 ID : 6306803678494
Option 31D : 6306803678493
Option 4 1D : 6306803678492

Q.11 Fill in the blank with the correct adverb.

he opened the door and peeked inside.
Ans X 1.noiseless

25 2. noiselessness
#< 3. unnoisingly
" 4. noiselessly

Question ID : 630680938560

Option 11D : 6306803678644
Option 2 1D : 6306803678645
Option 31D : 6306803678646
Option 4 ID : 6306803678643
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Q.12 Choose the correct one-word substitution for the sentence/phrase given below:

An act of renouncing the throne
Ans X 1. Allegory

«# 2. Abdication
5 3. Almanac
5 4. Axiom

Question ID : 630680938311

Option 11D : 6306803677721
Option 21D : 6306803677719
Option 31D : 6306803677720
Option 41D : 6306803677722

Q.13 Rearrange the following sentences to form a coherent paragraph and choose the correct
sequence from the options given below:

A. Thus, they are essential for maintaining the balance of ecosystems and biodiversity.
B. Bees are pollinators that transfer pollen from one flower to another, enabling the
reproduction of plants.

C. However, they are facing many threats, such as pesticides, parasites, and habitat loss.
D. Therefore, they need protection and conservation, as their decline would have serious
consequences for agriculture and the environment.

Ans X 1.CDBA
& 2.BACD
X 3.DCAB
X 4. ABDC

Question ID : 630680938438

Option 11D : 6306803678192
Option 21D : 6306803678191
Option 31D : 6306803678193
Option 4 ID : 6306803678194

Q.14 Select the word segment that substitutes (replaces) the bracketed idiom correctly and
completes the sentence meaningfully.

He (burned the midnight oil) to finish his assignment on time.
Ans X 1.worked very hard

/< 2. wasted a lot of time
/< 3.litacandle

«# 4. stayed up very late

Question ID : 630680938399

Option 11D : 6306803678047
Option 21D : 6306803678049
Option 31D : 6306803678050
Option 41D : 6306803678048
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Q.15 Fill in the blank with the correct preposition:

He was born January.
Ans X 1.on

X 2. at
< 3.by
w 4.in

Question ID : 630680938432

Option 11D : 6306803678168
Option 21D : 6306803678169
Option 31D : 6306803678170
Option 4 ID : 6306803678167

Q.16 Fill in the blank with the correct article:

She works as nurse.
Ans X 1.No article

5 2. the
X 3.an
w4 a

Question ID : 630680938343

Option 11D : 6306803677838
Option 21D : 6306803677836
Option 31D : 6306803677837
Option 41D : 6306803677835

Q.17 Select the word segment that substitutes (replaces) the bracketed proverb correctly and
completes the sentence meaningfully.

She (cut corners) to save money on the project.
Ans o 1.reduced the quality

#5 2. followed the rules
2% 3.increased the efficiency

/% 4. changed the design

Question ID : 630680938400

Option 11D : 6306803678051
Option 21D : 6306803678054
Option 31D : 6306803678052
Option 41D : 6306803678053
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Q.18 Fill in the blank with correct part of speech:

He finished in the race.
Ans X 1.one

5 2.once
o 3. first
X 4. one's

Question ID : 630680938387

Option 11D : 6306803677999
Option 21D : 6306803678001
Option 31D : 6306803678000
Option 4 ID : 6306803678002

Q.19 Fill in the blank with the correct article:

She gave him
Ans 4 1.3,2a

X 2.an,an
X 3.a,an
X 4.ana

book and he gave her flower.

Question ID : 630680938386

Option 11D : 6306803677995
Option 21D : 6306803677998
Option 31D : 6306803677996
Option 4 ID : 6306803677997

Q.20 Fill in the blank with the correct part of speech:

She went to the library
Ans X 1.therefore

borrow some books.

" 2.in order to
5 3.sothat
5 4. because

Question ID : 630680938393

Option 11D : 6306803678026
Option 2 1D : 6306803678025
Option 31D : 6306803678024
Option 4 1D : 6306803678023

Section : Test of English Language and Comprehension 2
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Q.1 Choose the most appropriate meaning of the idiom given below:

Up for grabs
Ans X 1.The complete or full extent of something
¥ 2. Available for anyone to take or win

5 3. Help each other mutually

5 4. A point in the distance where something disappears from view

Question ID : 630680938401

Option 11D : 6306803678057
Option 21D : 6306803678055
Option 31D : 6306803678058
Option 41D : 6306803678056

Q.2 The sentence given below is divided in to three segment. Choose the segment which has a
spelling error. If there are no errors, choose No error option.

The restaurant offered/ a plethora of culinary/ delacacies.
Ans X 1.The restaurant offered

2% 2. No error
" 3. delacacies

5 4. aplethora of culinary

Question ID : 630680938452

Option 11D : 6306803678247
Option 21D : 6306803678250
Option 3 1D : 6306803678249
Option 4 ID : 6306803678248

Q.3 The sentence given below is divided into three segments. Choose the segment which has a
spelling error. If there are no errors, choose No error option.

He was very reluctent to/ share his secrets with/ anyone, even his best friend.
Ans X 1. share his secrets with

X 2. No error
" 3. He was very reluctent to

5% 4. anyone, even his best friend.

Question ID : 630680938323

Option 11D : 6306803677768
Option 21D : 6306803677770
Option 31D : 6306803677767
Option 4 ID : 6306803677769
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Q.4 Which word is a homonym of heir?
Ans X 1. here

" 2. air
5 3. hare
5 4. hire
Question ID : 630680938623
Option 11D : 6306803678885
Option 21D : 6306803678884
Option 31D : 6306803678883
Option 4 1D : 6306803678886
Q.5 Which word is a homonym of write?
Ans X 1. Written
«” 2. Right
25 3. Wrought
< 4. Bright
Question ID : 630680938580
Option 11D : 6306803678726
Option 21D : 6306803678723
Option 3 ID : 6306803678725
Option 41D : 6306803678724
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Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Mahabharata, an ancient Indian epic, is a narrative that (1) _______ the profound tales
of righteousness, conflict, and divine intervention. Composed by the sage Vyasa, the
Mahabharata is a sprawling epic that holds a prominent place in Hindu mythology.

2) over thousands of verses, the Mahabharata centres around the Kuru dynasty
and the intense rivalry between the Pandavas and the Kauravas. The epic explores themes of
dharma (duty/righteousness), karma (action), and the consequences of war.

One of the pivotal sections of the Mahabharata is the Bhagavad Gita, a sacred dialogue
between Lord Krishna and the warrior, Arjuna. In this philosophical discourse, Krishna imparts
profound wisdom on the nature of existence, duty, and devotion.

The Mahabharata is not merely a (3) tale but a reservoir of moral and ethical
teachings. It delves into complex characters like Bhishma, Karna, and Draupadi, presenting a
tapestry of virtues and flaws.

The great war of Kurukshetra, a climactic event in the Mahabharata, serves as a metaphorical
battleground where the forces of righteousness confront the forces of (4) .The
intricate narrative weaves together intricate subplots, divine interventions, and powerful moral
lessons.

Even today, the Mahabharata continuesto (5) ________ readers and scholars alike, serving
as a timeless source of inspiration and philosophical contemplation.

SubQuestion No : 6
Q.6 Select the most appropriate option to fill in blank number (1).
Ans X 1.Confuses

" 2. Elucidates
75 3. Conceals
75 4. Obscures

Question ID : 630680938497

Option 11D : 6306803678414
Option 21D : 6306803678411
Option 31D : 6306803678413
Option 41D : 6306803678412
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Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Mahabharata, an ancient Indian epic, is a narrative that (1) _______ the profound tales
of righteousness, conflict, and divine intervention. Composed by the sage Vyasa, the
Mahabharata is a sprawling epic that holds a prominent place in Hindu mythology.

2) over thousands of verses, the Mahabharata centres around the Kuru dynasty
and the intense rivalry between the Pandavas and the Kauravas. The epic explores themes of
dharma (duty/righteousness), karma (action), and the consequences of war.

One of the pivotal sections of the Mahabharata is the Bhagavad Gita, a sacred dialogue
between Lord Krishna and the warrior, Arjuna. In this philosophical discourse, Krishna imparts
profound wisdom on the nature of existence, duty, and devotion.

The Mahabharata is not merely a (3) tale but a reservoir of moral and ethical
teachings. It delves into complex characters like Bhishma, Karna, and Draupadi, presenting a
tapestry of virtues and flaws.

The great war of Kurukshetra, a climactic event in the Mahabharata, serves as a metaphorical
battleground where the forces of righteousness confront the forces of (4) .The
intricate narrative weaves together intricate subplots, divine interventions, and powerful moral
lessons.

Even today, the Mahabharata continuesto (5) ________ readers and scholars alike, serving
as a timeless source of inspiration and philosophical contemplation.

SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank number (2).
Ans  &* 1. Extending

5 2. Comprising
75 3. Scattered
75 4. Contracting

Question ID : 630680938498

Option 11D : 6306803678418
Option 21D : 6306803678415
Option 31D : 6306803678416
Option 41D : 6306803678417
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Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Mahabharata, an ancient Indian epic, is a narrative that (1) _______ the profound tales
of righteousness, conflict, and divine intervention. Composed by the sage Vyasa, the
Mahabharata is a sprawling epic that holds a prominent place in Hindu mythology.

2) over thousands of verses, the Mahabharata centres around the Kuru dynasty
and the intense rivalry between the Pandavas and the Kauravas. The epic explores themes of
dharma (duty/righteousness), karma (action), and the consequences of war.

One of the pivotal sections of the Mahabharata is the Bhagavad Gita, a sacred dialogue
between Lord Krishna and the warrior, Arjuna. In this philosophical discourse, Krishna imparts
profound wisdom on the nature of existence, duty, and devotion.

The Mahabharata is not merely a (3) tale but a reservoir of moral and ethical
teachings. It delves into complex characters like Bhishma, Karna, and Draupadi, presenting a
tapestry of virtues and flaws.

The great war of Kurukshetra, a climactic event in the Mahabharata, serves as a metaphorical
battleground where the forces of righteousness confront the forces of (4) .The
intricate narrative weaves together intricate subplots, divine interventions, and powerful moral
lessons.

Even today, the Mahabharata continuesto (5) ________ readers and scholars alike, serving
as a timeless source of inspiration and philosophical contemplation.

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank number (3).
Ans X 1.Fictional

" 2. Historical
5 3. Mundane
5 4. Literal

Question ID : 630680938499

Option 11D : 6306803678419
Option 21D : 6306803678420
Option 31D : 6306803678421
Option 41D : 6306803678422
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Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Mahabharata, an ancient Indian epic, is a narrative that (1) ______ the profound tales
of righteousness, conflict, and divine intervention. Composed by the sage Vyasa, the
Mahabharata is a sprawling epic that holds a prominent place in Hindu mythology.

2) over thousands of verses, the Mahabharata centres around the Kuru dynasty
and the intense rivalry between the Pandavas and the Kauravas. The epic explores themes of
dharma (duty/righteousness), karma (action), and the consequences of war.

One of the pivotal sections of the Mahabharata is the Bhagavad Gita, a sacred dialogue
between Lord Krishna and the warrior, Arjuna. In this philosophical discourse, Krishna imparts
profound wisdom on the nature of existence, duty, and devotion.

The Mahabharata is not merely a (3) tale but a reservoir of moral and ethical
teachings. It delves into complex characters like Bhishma, Karna, and Draupadi, presenting a
tapestry of virtues and flaws.

The great war of Kurukshetra, a climactic event in the Mahabharata, serves as a metaphorical
battleground where the forces of righteousness confront the forces of (4) .The
intricate narrative weaves together intricate subplots, divine interventions, and powerful moral
lessons.

Even today, the Mahabharata continuesto (5) ________ readers and scholars alike, serving
as a timeless source of inspiration and philosophical contemplation.

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank number (4).
Ans X 1.Chaos

«” 2. Adharma
5 3. Harmony
75 4. Disarray

Question ID : 630680938500

Option 11D : 6306803678426
Option 21D : 6306803678423
Option 31D : 6306803678424
Option 41D : 6306803678425
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Comprehension:

A passage is given with 5 blanks in it. Read the passage carefully and choose the best answer
to each question out of the four alternatives:

The Mahabharata, an ancient Indian epic, is a narrative that (1) _______ the profound tales
of righteousness, conflict, and divine intervention. Composed by the sage Vyasa, the
Mahabharata is a sprawling epic that holds a prominent place in Hindu mythology.

2) over thousands of verses, the Mahabharata centres around the Kuru dynasty
and the intense rivalry between the Pandavas and the Kauravas. The epic explores themes of
dharma (duty/righteousness), karma (action), and the consequences of war.

One of the pivotal sections of the Mahabharata is the Bhagavad Gita, a sacred dialogue
between Lord Krishna and the warrior, Arjuna. In this philosophical discourse, Krishna imparts
profound wisdom on the nature of existence, duty, and devotion.

The Mahabharata is not merely a (3) tale but a reservoir of moral and ethical
teachings. It delves into complex characters like Bhishma, Karna, and Draupadi, presenting a
tapestry of virtues and flaws.

The great war of Kurukshetra, a climactic event in the Mahabharata, serves as a metaphorical
battleground where the forces of righteousness confront the forces of (4) .The
intricate narrative weaves together intricate subplots, divine interventions, and powerful moral
lessons.

Even today, the Mahabharata continuesto (5) ________ readers and scholars alike, serving
as a timeless source of inspiration and philosophical contemplation.

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank number (5).
Ans X 1.Enrage

" 2. Allure
75 3. Befuddle
5 4. Capitulate

Question ID : 630680938501

Option 11D : 6306803678428
Option 21D : 6306803678429
Option 31D : 6306803678427
Option 41D : 6306803678430
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Crocs, the iconic footwear brand, has revolutionized comfort and style with its distinctive clog
design. Characterized by their lightweight construction, ventilated ports, and signature
crocodile logo, Crocs have become a global phenomenon. Originally designed as boating
shoes, they have transcended their utilitarian roots to become a fashion statement.

Adored for their versatility, Crocs are not limited to any age group or gender, making them a
favourite among children, adults, and celebrities alike. The brand's vibrant colour palette adds
a playful touch to casual wear, while the comfort provided by the unique Croslite foam
material ensures all-day ease.

Beyond fashion, Crocs have also found their place in healthcare and culinary professions,
thanks to their slip-resistant and easy-to-clean properties. The brand's commitment to
sustainability is evident in their eco-friendly initiatives, creating a positive impact on both
fashion and the environment.

In a world where footwear choices abound, Crocs stand out for their blend of comfort,
functionality, and unmistakable style—a testament to the enduring popularity of these
distinctive shoes.

SubQuestion No : 11
Q.11 What is the central theme of the passage?
Ans X 1. How unexpected and underving is the success of Crocs

/< 2. How Crocs are now the fashion brand everyone aspires for
+«# 3. How Crocs has revolutionised footwear

25 4. Therise and fall of Crocs

Question ID : 630680938461

Option 11D : 6306803678276
Option 21D : 6306803678278
Option 31D : 6306803678277
Option 41D : 6306803678275
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Crocs, the iconic footwear brand, has revolutionized comfort and style with its distinctive clog
design. Characterized by their lightweight construction, ventilated ports, and signature
crocodile logo, Crocs have become a global phenomenon. Originally designed as boating
shoes, they have transcended their utilitarian roots to become a fashion statement.

Adored for their versatility, Crocs are not limited to any age group or gender, making them a
favourite among children, adults, and celebrities alike. The brand's vibrant colour palette adds
a playful touch to casual wear, while the comfort provided by the unique Croslite foam
material ensures all-day ease.

Beyond fashion, Crocs have also found their place in healthcare and culinary professions,
thanks to their slip-resistant and easy-to-clean properties. The brand's commitment to
sustainability is evident in their eco-friendly initiatives, creating a positive impact on both
fashion and the environment.

In a world where footwear choices abound, Crocs stand out for their blend of comfort,
functionality, and unmistakable style—a testament to the enduring popularity of these
distinctive shoes.

SubQuestion No : 12
Q.12 How is the passage structured?
Ans X 1. Cause - Effect - Implication

«# 2. Introduction - Body - Conclusion
#% 3. Problem - Solution - Evaluation

25 4. Comparison - Contrast - Synthesis

Question ID : 630680938464

Option 11D : 6306803678289
Option 21D : 6306803678287
Option 31D : 6306803678288
Option 41D : 6306803678290
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Crocs, the iconic footwear brand, has revolutionized comfort and style with its distinctive clog
design. Characterized by their lightweight construction, ventilated ports, and signature
crocodile logo, Crocs have become a global phenomenon. Originally designed as boating
shoes, they have transcended their utilitarian roots to become a fashion statement.

Adored for their versatility, Crocs are not limited to any age group or gender, making them a
favourite among children, adults, and celebrities alike. The brand's vibrant colour palette adds
a playful touch to casual wear, while the comfort provided by the unique Croslite foam
material ensures all-day ease.

Beyond fashion, Crocs have also found their place in healthcare and culinary professions,
thanks to their slip-resistant and easy-to-clean properties. The brand's commitment to
sustainability is evident in their eco-friendly initiatives, creating a positive impact on both
fashion and the environment.

In a world where footwear choices abound, Crocs stand out for their blend of comfort,
functionality, and unmistakable style—a testament to the enduring popularity of these
distinctive shoes.

SubQuestion No : 13
Q.13 Which of the following can be inferred from the passage?

Ans o 1. Crocs are eco-friendly
/< 2. Crocs are made of recycled materials
#% 3. Crocs are designed for boating only

Z5 4. Crocs are only available in one colour

Question ID : 630680938462

Option 11D : 6306803678282
Option 21D : 6306803678281
Option 31D : 6306803678280
Option 41D : 6306803678279
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Crocs, the iconic footwear brand, has revolutionized comfort and style with its distinctive clog
design. Characterized by their lightweight construction, ventilated ports, and signature
crocodile logo, Crocs have become a global phenomenon. Originally designed as boating
shoes, they have transcended their utilitarian roots to become a fashion statement.

Adored for their versatility, Crocs are not limited to any age group or gender, making them a
favourite among children, adults, and celebrities alike. The brand's vibrant colour palette adds
a playful touch to casual wear, while the comfort provided by the unique Croslite foam
material ensures all-day ease.

Beyond fashion, Crocs have also found their place in healthcare and culinary professions,
thanks to their slip-resistant and easy-to-clean properties. The brand's commitment to
sustainability is evident in their eco-friendly initiatives, creating a positive impact on both
fashion and the environment.

In a world where footwear choices abound, Crocs stand out for their blend of comfort,
functionality, and unmistakable style—a testament to the enduring popularity of these
distinctive shoes.

SubQuestion No : 14
Q.14 What is the tone of the passage?
Ans X 1.Persuasive

¥ 2. Informative
#% 3. Humorous
/5 4. Critical

Question ID : 630680938460

Option 11D : 6306803678273
Option 21D : 6306803678272
Option 31D : 6306803678274
Option 41D : 6306803678271
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Crocs, the iconic footwear brand, has revolutionized comfort and style with its distinctive clog
design. Characterized by their lightweight construction, ventilated ports, and signature
crocodile logo, Crocs have become a global phenomenon. Originally designed as boating
shoes, they have transcended their utilitarian roots to become a fashion statement.

Adored for their versatility, Crocs are not limited to any age group or gender, making them a
favourite among children, adults, and celebrities alike. The brand's vibrant colour palette adds
a playful touch to casual wear, while the comfort provided by the unique Croslite foam
material ensures all-day ease.

Beyond fashion, Crocs have also found their place in healthcare and culinary professions,
thanks to their slip-resistant and easy-to-clean properties. The brand's commitment to
sustainability is evident in their eco-friendly initiatives, creating a positive impact on both
fashion and the environment.

In a world where footwear choices abound, Crocs stand out for their blend of comfort,
functionality, and unmistakable style—a testament to the enduring popularity of these
distinctive shoes.

SubQuestion No : 15
Q.15 What is the antonym of the word “utilitarian” as used in the passage?
Ans X 1. Versatile

/< 2. Playful
/< 3. Comfortable
o 4. Stylish

Question ID : 630680938463

Option 11D : 6306803678285
Option 21D : 6306803678284
Option 31D : 6306803678286
Option 41D : 6306803678283
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Deforestation, the widespread removal of forests for various purposes, significantly
contributes to climate change. Trees play a crucial role in regulating the Earth's climate by
absorbing carbon dioxide during photosynthesis. When forests are cleared, this natural
carbon sink is disrupted, leading to increased levels of greenhouse gases in the atmosphere.
The released carbon dioxide intensifies the greenhouse effect, trapping heat and raising
global temperatures.

Moreover, deforestation disrupts the water cycle, affecting precipitation patterns and
contributing to extreme weather events like floods and droughts. Loss of biodiversity is
another consequence, as many species depend on forests for habitat and sustenance. The
intricate balance of ecosystems is disturbed, impacting not only the environment but also
communities that rely on forests for their livelihoods.

Addressing deforestation is imperative for mitigating climate change and preserving the
delicate equilibrium of our planet. Sustainable forestry practices, reforestation initiatives, and
global cooperation are essential steps toward mitigating the adverse impacts of
deforestation and fostering a more resilient and balanced environment.

SubQuestion No : 16
Q.16 What is the consequence of deforestation on biodiversity?
Ans X 1. No effect on biodiversity

«# 2. Loss of biodiversity
/< 3.Increase of biodiversity

25 4. Variation of biodiversity

Question ID : 630680938425

Option 11D : 6306803678141
Option 21D : 6306803678139
Option 31D : 6306803678140
Option 41D : 6306803678142
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Deforestation, the widespread removal of forests for various purposes, significantly
contributes to climate change. Trees play a crucial role in regulating the Earth's climate by
absorbing carbon dioxide during photosynthesis. When forests are cleared, this natural
carbon sink is disrupted, leading to increased levels of greenhouse gases in the atmosphere.
The released carbon dioxide intensifies the greenhouse effect, trapping heat and raising
global temperatures.

Moreover, deforestation disrupts the water cycle, affecting precipitation patterns and
contributing to extreme weather events like floods and droughts. Loss of biodiversity is
another consequence, as many species depend on forests for habitat and sustenance. The
intricate balance of ecosystems is disturbed, impacting not only the environment but also
communities that rely on forests for their livelihoods.

Addressing deforestation is imperative for mitigating climate change and preserving the
delicate equilibrium of our planet. Sustainable forestry practices, reforestation initiatives, and
global cooperation are essential steps toward mitigating the adverse impacts of
deforestation and fostering a more resilient and balanced environment.

SubQuestion No : 17
Q.17 What is the main purpose of deforestation according to the passage?
Ans X 1.To reduce the carbon dioxide

/5 2. To improve the rainfall
/% 3. To protect the wildlife

«# 4. To increase the land area

Question ID : 630680938423

Option 11D : 6306803678132
Option 21D : 6306803678134
Option 31D : 6306803678133
Option 41D : 6306803678131
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Deforestation, the widespread removal of forests for various purposes, significantly
contributes to climate change. Trees play a crucial role in regulating the Earth's climate by
absorbing carbon dioxide during photosynthesis. When forests are cleared, this natural
carbon sink is disrupted, leading to increased levels of greenhouse gases in the atmosphere.
The released carbon dioxide intensifies the greenhouse effect, trapping heat and raising
global temperatures.

Moreover, deforestation disrupts the water cycle, affecting precipitation patterns and
contributing to extreme weather events like floods and droughts. Loss of biodiversity is
another consequence, as many species depend on forests for habitat and sustenance. The
intricate balance of ecosystems is disturbed, impacting not only the environment but also
communities that rely on forests for their livelihoods.

Addressing deforestation is imperative for mitigating climate change and preserving the
delicate equilibrium of our planet. Sustainable forestry practices, reforestation initiatives, and
global cooperation are essential steps toward mitigating the adverse impacts of
deforestation and fostering a more resilient and balanced environment.

SubQuestion No : 18
Q.18 What are the two natural processes that are disrupted by deforestation?
Ans X 1. Nitrogen cycle and oxygen cycle

/5 2. Photosynthesis and respiration
«# 3. Water cycle and carbon cycle

5 4. Food chain and food web

Question ID : 630680938424

Option 11D : 6306803678137
Option 21D : 6306803678135
Option 31D : 6306803678136
Option 41D : 6306803678138
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Deforestation, the widespread removal of forests for various purposes, significantly
contributes to climate change. Trees play a crucial role in regulating the Earth's climate by
absorbing carbon dioxide during photosynthesis. When forests are cleared, this natural
carbon sink is disrupted, leading to increased levels of greenhouse gases in the atmosphere.
The released carbon dioxide intensifies the greenhouse effect, trapping heat and raising
global temperatures.

Moreover, deforestation disrupts the water cycle, affecting precipitation patterns and
contributing to extreme weather events like floods and droughts. Loss of biodiversity is
another consequence, as many species depend on forests for habitat and sustenance. The
intricate balance of ecosystems is disturbed, impacting not only the environment but also
communities that rely on forests for their livelihoods.

Addressing deforestation is imperative for mitigating climate change and preserving the
delicate equilibrium of our planet. Sustainable forestry practices, reforestation initiatives, and
global cooperation are essential steps toward mitigating the adverse impacts of
deforestation and fostering a more resilient and balanced environment.

SubQuestion No : 19
Q.19 What is the synonym of the word “imperative” as used in the passage?
Ans o 1. Essential

/5 2. Possible
/5 3. Optional
75 4. Flexible

Question ID : 630680938426

Option 11D : 6306803678144
Option 21D : 6306803678145
Option 31D : 6306803678143
Option 41D : 6306803678146
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Comprehension:

A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to each question out of the four alternatives:

Deforestation, the widespread removal of forests for various purposes, significantly
contributes to climate change. Trees play a crucial role in regulating the Earth's climate by
absorbing carbon dioxide during photosynthesis. When forests are cleared, this natural
carbon sink is disrupted, leading to increased levels of greenhouse gases in the atmosphere.
The released carbon dioxide intensifies the greenhouse effect, trapping heat and raising
global temperatures.

Moreover, deforestation disrupts the water cycle, affecting precipitation patterns and
contributing to extreme weather events like floods and droughts. Loss of biodiversity is
another consequence, as many species depend on forests for habitat and sustenance. The
intricate balance of ecosystems is disturbed, impacting not only the environment but also
communities that rely on forests for their livelihoods.

Addressing deforestation is imperative for mitigating climate change and preserving the
delicate equilibrium of our planet. Sustainable forestry practices, reforestation initiatives, and
global cooperation are essential steps toward mitigating the adverse impacts of
deforestation and fostering a more resilient and balanced environment.

SubQuestion No : 20
Q.20 How can deforestation not be addressed according to the passage?
Ans X 1. Sustainable forestry practices, reforestation initiatives, and global cooperation

/< 2. Mass awareness, afforestation, and preservation of wildlife
«# 3. Encouraging cutting down trees in the south west to save the amazon rainforest.

/< 4. Reforestation is an effective practice to address deforestation.

Question ID : 630680938427

Option 11D : 6306803678147
Option 21D : 6306803678148
Option 31D : 6306803678149
Option 41D : 6306803678150

Section : Test of Hindi Language and Comprehension 1

Q.1 fFAfafEe ar Rl § 9, 39 Rhea o1 a4 w2 st & 7 wtnlh @ 3fRa orf &1
foreg o1 weR 7 o, 99 & e A gry s
Ans X 1. SXd & STUR & 9 1T
X 2. fSHT UHETOT & RIS R AT
X 3. 3t feafa gwet fom foneht & et st
o 4. IS8R WR off T2 I I A T WY HAT

Question ID : 630680938908

Option 11D : 6306803679981
Option 21D : 6306803679982
Option 31D : 6306803679979
Option 41D : 6306803679980
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Q.2 f=fofla v, ar el | 9, 39 fased o1 9g+1 & ot wigas | Ry 719 21 & srgar gt
foran fasivor & =u arer faerea &1

aft a2 (eFyder) uerd wed &1
Ans X 1. ara feharfasivor
/X 2. Srerarad feharfasivor
o 3. Tfcaraes feRamfaRisoT
X 4. uRmroraraes fharfasivor

Question ID : 630680938777

Option 11D : 6306803679481
Option 21D : 6306803679480
Option 31D : 6306803679479
Option 4 ID : 6306803679482

Q.3 fF=faf@d usr d, IR faereal & @, 39 frereq o1 == &R it & 1 Aenifh &1 I8t oref are
faerea 21

i o sifa =gt
Ans X 1.TAg e Tahe
o 2. T ot S FI SahAT el
X 3. grafhrisddtymfiaga g
X 4 wmftgg S ik gH ot T8t

Question ID : 630680938989

Option 11D : 6306803680289
Option 21D : 6306803680290
Option 31D : 6306803680288
Option 4 ID : 6306803680287

Q.4 fafafEd feeal 7 |, 39 faeea &1 og= &R St e 1y srgese & sifaw areg ol SRa R @
ufaenfoa &= 9 -

‘eitaret aIfEfar & hRUT AW | e georg o &| [ st mif sir w9, sifdes aromm,
TRk garsil # geard enfe anfae g1
g9 uRUImERsY uThfaes aruarsil d i gt aadt 3|

Ans X 1. S R JF, Iehard, A1 h SHTATAT 8 T STTUGTS MW 814 hl YHIEGHT 18] 6|
o 2. 3T% URUMERGEY WM, IehdTd, 16 3R T3 31T SIS H gig gt Tendht &
75 3. f58 7R I, Tehard, 16 SR BE ST SITUaTd Mfad T8l 6|
25 4. TS e e, SreaT Hies ofR &g o1 STUeTg i &1

Question ID : 630680938804

Option 11D : 6306803679585
Option 2 1D : 6306803679586
Option 31D : 6306803679583
Option 4 ID : 6306803679584
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Q.5 fA=fafad aremin & fAg g e @1 T+ fifsg-
T ORORT @ et oS han
Ans X 1.%aw
o 2. &dhen
X 3. frarE
X4

Question ID : 630680938899

Option 11D : 6306803679945
Option 21D : 6306803679946
Option 31D : 6306803679943
Option 4 ID : 6306803679944

Q.6 fF=fafEa usr &, aR Rl 7 @, 39 e o1 au= &R it g 70 gera’ o1 ag oref aren
fRrerea g1

TSIl Hg i ST
Ans X 1.3 g go foram
75 2. &F eROT AT
o 3. SR G g
X 4. g

Question ID : 630680938992

Option 11D : 6306803680302
Option 21D : 6306803680301
Option 31D : 6306803680300
Option 4 1D : 6306803680299

Q.7 fF=fafEa Rt # @ w4 a1 Reeu go g area a9 & forg araian &t gt sna
Hafed a1 8?

A- 3R SfiaT & Uedeh °ORUT H Qeh-gER I
B- I9YH &ed & at IS oft argdt el
C- uRaR &l TeFE &l UgaT Hehdll §
D- af uRear & Te<g g T1U @A &

Ans o 1.DABC
< 2.CABD
< 3.CBDA
< 4.DBCA

Question ID : 630680938765

Option 11D : 6306803679435
Option 21D : 6306803679438
Option 31D : 6306803679437
Option 4 1D : 6306803679436
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231 R # 1T 31U Se71ch ohl T hed & 31U SITA-UTH &h ITATaRUT hl T 3R gR1-WRT 3@+
T Hehed A & | s 7 SR fovar ok vdes wiRdta 591 o1if = o6l v it F & u A &
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25 2. 38 Uk GOl SITHTTE 9§91 & AT &R T A i
o 3. 30 U Ihal AN I & foT &= Ia U i
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Question ID : 630680938719

Option 11D : 6306803679262
Option 2 ID : 6306803679259
Option 31D : 6306803679261
Option 4 ID : 6306803679260

Q.9 fa=fafad us A, aR el & @, 39 faeren &1 7g9 R it 2w 1y R @M & fog 98 FRe
aret frerea 21

=l A 98 & g R dTeRR T foeman|
Ans X 1.&

K2 W
o 3.

X 4%

Question ID : 630680938691

Option 11D : 6306803679151
Option 21D : 6306803679152
Option 31D : 6306803679153
Option 4 ID : 6306803679154

Q.10 Fr=fafEd ar fasedt & |, 39 faeea o1 o= o st fRg 71g ggrer o1 3fAa sref g1
gE ft i § e Pepern
Ans X 1. R HH A har
o 2. ITRIT B g
X< 3. sifga g
25 4. SR AT

Question ID : 630680938907

Option 11D : 6306803679975
Option 21D : 6306803679977
Option 31D : 6306803679976
Option 41D : 6306803679978
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Q.11 et usr 8, aR Rl A |, 39 Rerca &1 999 & it Fise J Ry 79 2reg & orgaR agt
fasivor & = arer faerea &1

arat ot aga @ o F (ara) 7T @ & AR 3
Ans o 1. SwETETTe fAgivor

/5 2. uRmToraraes fasior

X 3. TuraTEes fasiwor
X 4. ardfaes fasiyor

Question ID : 630680938736

Option 11D : 6306803679324
Option 21D : 6306803679326
Option 31D : 6306803679323
Option 4 ID : 6306803679325

Q.12 F=fafa@a us 8, IR Rl A |, 39 Rerca o1 999 & it wise d Ry 79 2reg & orgaR agt
forar faLivor & wu aren fawea &1

G 39T A T (AT h) e gl
Ans X 1. uReoreTaes foRar-fasteor
X 2. ©aTas fepar-fagior
o 3. Afaraes fohar-fagwor
X 4. wrerarads fopar-fasteor

Question ID : 630680938945

Option 11D : 6306803680119
Option 21D : 6306803680122
Option 31D : 6306803680121
Option 4 1D : 6306803680120

Q.13 fRA=fafaa us &, R faweal 7 |, 39 gl fAeheu o1 ag= & St areisn & e g 2reg ot
forerea gt

STOTT Y T@ T T
Ans X 1.d@

25 2. 3med

X 3.5Ih

o 4. TR

Question ID : 630680938773

Option 11D : 6306803679463
Option 21D : 6306803679466
Option 31D : 6306803679464
Option 41D : 6306803679465
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Q.14 fA=fafaa us §, 9r el 7 @, 39 fAesa @1 997 w2 51t Ry e are & fore adl fvar & =u
arett frerea 21

T GHT @I A T T |
Ans X 1. 3ichHd fohar
o 2. Tdahrieren foham
X 3. ped foran
X 4. tomefes foma

Question ID : 630680938942

Option 11D : 6306803680107
Option 21D : 6306803680110
Option 31D : 6306803680109
Option 4 1D : 6306803680108

Q.15 F=fafa@a 7 9, 36 ey o1 ag= &= w1t Ry 19 srgede & sifaw araa &l sRa vk @
ufaenfua &= 9&-

NI gHR Sfia & wie fawat J @ gen 8| ag g gecft ol srges TR R ARRIHSG w9 @
T o< 38T &1 98 Geh QHT HeT & Wil &idd 997g & =i g f&ar o fava w1 8

Ans o 1. 213 91 H 3T gFGRS TG 98 TAH IR Aggy fohaT ST T 81
25 2. 213 T H SHRI ATHRRT UHTE I G TR A4y fohal ST 3@l 81
25 3. 217 9t H SHRI IR UHTE $© S R AgYY Rl ST 6T &
X 4. 21 T 7 3T g1 Re UTa SaTeT HEgy A8 fohan 51T XeT 8

Question ID : 630680938845

Option 11D : 6306803679741
Option 21D : 6306803679739
Option 31D : 6306803679740
Option 41D : 6306803679742

Q.16 3R fasea Trem, Y 7T a1 & Fised aret uTT A JE F Waw-

sfagraeRl &1 a1 ¢ foh (R fagml gr sro+ht wgm wnfefes faal & wai 6 = areht)
T T 6 1

Ans X 1. g R ZRT S weT R e gt & we &t o areh
X 2. R Rigrit grr o et & wer R s o areht
X 3. 7g iR R gt g oot apferat & sy oY ot el
o 4. R0, gt g oo mem anfafRes i 3 vt Y o areht

Question ID : 630680938889

Option 11D : 6306803679907
Option 21D : 6306803679909
Option 31D : 6306803679910
Option 41D : 6306803679908
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Q.17 fFAfaf@d aea d, 39 areir w ugnfAg Sad go sixifeat & aft #iE medh a8 & &t 'w i
e 7 & o1 g fig|

Ty & uRY @ g Fomgde sreaam 71 et aren udendl/ vien ot 39 FieT Rt w) ua=-ga
&9 @ 4R/ gk € Iz § uden-awg st agar 81

Ans X 1. U gl I8H A UET-THg g1 9rgdT g
X 2w IR TER
75 3. 99 & URY ¥ g aAqden srezee | e arer uremt
o 4. T&T I 39 i AT R ua-ga g™ & Hifa

Question ID : 630680938953

Option 11D : 6306803680153
Option 21D : 6306803680154
Option 31D : 6306803680151
Option 4 ID : 6306803680152

Q.18 3T 7Y a1y & g aret WIT | Ffe g Tehelt & ag Riehea g7 ot 39 Ffe A Sip |
T Fi gorg @ (R ATaT-far IR Tl F R-IR 3R ghAl | B A & g deid &)
Ans X 1. R USRf §© Tl ol B8R 7R gl §
o 2. TG AT-OaT oo =gt ot BR-ER SfR genT § i
X 3. e A1dT-fiaT gER S ol eR-ER SR gl |
X 4. SrfR A1T-fiar erua s et BR-ER SfR gl | S

Question ID : 630680938971

Option 11D : 6306803680222
Option 21D : 6306803680221
Option 31D : 6306803680219
Option 4 1D : 6306803680220

Q.19 f=faf@q area d, 39 arawin wt ugaAe Sed oo siyfeat & af wiE madt a8 g at 'wid
R 7 & 1 g P

i & RAT F e W A & SrrereRR i/ TE HIA W ST Hehe AT ST & Riifeh aga &3/
ek ST <h1 A ot T8 A1

Ans X 1. T & Rt F opTaT e A & SRR et
/X 2. aa ST a1 A off 98 @
X 3w
o 4. TE T TR STea] Uehe 31T i1 § eRilfeh agd &%

Question ID : 630680938995

Option 11D : 6306803680311
Option 21D : 6306803680313
Option 31D : 6306803680314
Option 41D : 6306803680312
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Q.20 Fr=fafa@d us &, R Rl A |, 39 Rereu o1 999 R it g 719 garar o1 wgl oref aren
e g1

3T TR ST
Ans X 1. fadeg amae
o 2. Afa-um uffa g
X 3. g T e
X 4. 3RIg Hrd g

Question ID : 630680938780

Option 11D : 6306803679493
Option 21D : 6306803679491
Option 3 ID : 6306803679494
Option 4 ID : 6306803679492

Section : Test of Hindi Language and Comprehension 2

Q.1 f=faf@d us d, IR faemeal @ @, 39 ey 1 9u= &R St Ry 717 g & 999 +9 arer It
farenea 81

wReTE

Ans X 1.U&R
25 2. foorar
o 3. vfaesmn
X 4. ufarht

Question ID : 630680938789

Option 11D : 6306803679528
Option 2 ID : 6306803679527
Option 3 ID : 6306803679529
Option 41D : 6306803679530

Q.2 fF=faf@d usr d 39 faeea @ 997 w2 St feu 71Q 2rez & sFaTff & a1 faerea 8t 21
TR
Ans X 1.7m
5 2. guEmg
X< 3. faasr
o 4T

Question ID : 630680938957

Option 11D : 6306803680170
Option 21D : 6306803680167
Option 31D : 6306803680169
Option 4 1D : 6306803680168
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Q.3 fA=fafad usr &, IR faerenl & |, 39 faere &1 aa9 &R 51t Ry ¢ 2ree & gafgarh e @ o
farerea T8 21

I

Ans X 1.3t
X< 2. i
& 3.7
X 4. T

Question ID : 630680938709

Option 11D : 6306803679226
Option 21D : 6306803679224
Option 3 1D : 6306803679223
Option 4 ID : 6306803679225

Q.4 fA=fafad ar fawmet & @, 39 e o1 aa= & it Ry 710 21 &1 A= 81
IaH
Ans X 1. 3ruH
X 2. 9gfRa
o 3. 31T
X4 9

Question ID : 630680938879

Option 11D : 6306803679871
Option 21D : 6306803679872
Option 31D : 6306803679873
Option 4 ID : 6306803679874

Q.5 f=fafEa g §, 39 arerisr # ugefag Srad aEnsi @ d«dfda sifgat & afe wig et
g1 &t 'wd Ffe 7 &' o gama Aifdig

AR fAeres gH 2terforen gEl & at daar/ a9a @1 & 91y & g9R I g Ay wR i/ Fea Afaw
3 IR o} gHeRT 3T 9914 &1

Ans X 1.@EITE R
X 2. gAR feren g8 AaifOs g8t & @ dgR
75 3. 997 &) & 1T €Y gAR I g [y TR A
o 4. Tera Afdes U R off g srest a8

Question ID : 630680938744

Option 11D : 6306803679358
Option 21D : 6306803679355
Option 31D : 6306803679356
Option 41D : 6306803679357
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Q.6 fA=fafad usr &, IR faerenl & @, 39 e &1 aa= &R 51t Ry 7Y 2ree & Aot &u arer

gl e T 81
g
Ans X 1.f@m
X 2. s
o 3. dThd
X 4.
Question ID : 630680938708
Option 11D : 6306803679219
Option 2 ID : 6306803679221
Option 31D : 6306803679220
Option 41D : 6306803679222
Q.7 fF=afafEa g d, 39 arerisn ot ugofAg Sad g siyfeat & aft wiE medh a8l § @t ‘sl
A =1 &' o1 goa ffSig|
fonfer s1e1 & g, T Y wReTE o1 R A1, 9e R @2 gail a1 g Y et H e kA
g TR St 3reiifehen 21f<h <ht hH gt eiTeit|
Ans o 1. I8 T9TRT T Sielifchen 1k oY A @l et |
/5 2. 9C R @ geil ol THT I Fle-A hl BT fordT
X 3. asgeTds
X 4. e S 7 g g i vt o R o,
Question ID : 630680938827
Option 11D : 6306803679673
Option 21D : 6306803679672
Option 31D : 6306803679674
Option 41D : 6306803679671
Q.8 fF=faf@d uw d, IR faereal & @, 39 frehed o1 =T & Sit 2T 71T 2reg & 9cqH ®U arer It
faerea 21
aheft
Ans X 1.%haUr
X 2. depe
o 3. Shhdlt
X 4.hg
Question ID : 630680938955
Option 11D : 6306803680159
Option 21D : 6306803680160
Option 31D : 6306803680162
Option 4 ID : 6306803680161
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Q.9 f=fafad usr &, IR fAwenl & @, 39 faere &1 aa7 &R it Ry 71T 2ree & e 2reg, &1 AR

gl
Serft
Ans o 1. STerEl
/5 2. 3ER
X 3. gaq
X 4. gdfg
Question ID : 630680938794
Option 11D : 6306803679548
Option 21D : 6306803679547
Option 31D : 6306803679549
Option 41D : 6306803679550
Q.10 F=fafad usn & aR el 7 @, 39 faereu &1 79 w2 51t Ry 71Q 21ee & vafgear=h T =1 98t
R agiag
ik
Ans X 1. ggafa
o 2. RTA
X 3. fafag
X 4. afgeyg
Question ID : 630680939003
Option 11D : 6306803680343
Option 21D : 6306803680346
Option 31D : 6306803680345
Option 4 ID : 6306803680344
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Comprehension:

2t Ry 72 wrerier # 5 e ®1g 3 19 8, e sree & e IR ey e man &1 59 merir Y
YR U¢ SR TR faered § T qaiwd IR arell faehed g |

3TTSTehed, AR U Sta hl Teh STaTehdT s+ 7T § | I8 TSI § oreqiT geft 7 Igetses
BT &1 Ueh YHTEIR U & WaR| bl UhIM 81T &, ST ehIFTSTl UR STUT ST & 3R & o u_i & faaRa fmar
STTAT &1 STHT-3TelT ST 3TTAT STelT JHTER T T & | SRIER g4 31U+ o1 § gt gt gofY gemen &
1Y 8 IR A g1 w8t geren 9 off A &1 T8 g8 @, AT, ud, garst, srfaaen, fher
Jeit, ftnew (TAfa), Ao, ISR 1S & TR # foeghel Géler STHehRT &dT 6| THTER U5 AT el

SR ST & SR AT & Uk O S1fden Ig<at &t gfef el &1 THTEIR U3 9gd gt Ut

R_____ B g ok TR & gl @eRi g GEATSH el Geh A1Y Yeh TITH TR AN el UgaTd 6 | Gamai
I JT H SR Igd A BT &1 I8 BH gAR IR 3R 81 351 Aot geaedl & IR A gfa
ETGIEGG IR
SubQuestion No : 11
Q.11 ggaemRAFEIfl A Iucuglardl
Ans X 1.8
25 2. forarat
o 3. TuTaT
X 4. prar
Question ID : 630680938684
Option 11D : 6306803679123
Option 2 1D : 6306803679125
Option 31D : 6306803679124
Option 41D : 6306803679126
Comprehension:
= ey M2 Terier H g e Big 3 M0 &, vl sifede & A IR ey e man &1 59 erier Y
YR U 3R IR fAered § T qaid IR arel faehed g |
3TTSTehed, AR TS SitaT hl eh STaTehdT s 7T § | I8 SToTR J oreqiT gaft T Igetses
BT &1 Ueh JHIR U3 § WaR| ohl UehIR gIdT &, STt TSl UR STUT ST & TR & & '=i § faafka forar
STTAT & 1 STT-3TTT 28T STUAT STl THTIR o WA & | 3G g1 319+ 327 & gt wat woft gearei &
1Y 8 IR A g1 38! geren 9 oft I &1 g g8 @, AT, ud, garst, srfaaen, fhen
el ftnew (TAfa), e, ISR 1S & TR # foeghel 9o TR &dT 8| FATER U5 AT el
— 3iRTERA & AUR N oh Yeh & SifAeh Ig <l ehi Yfcl el 81 FHIER U Fgd 6t T
3R Bl & 3R TUR & Gt @eRi g GE1SH I Yo AU Yeh AT UR AN el TgaTd 6 | Farail
I JoT H SR Igd A BT &1 I8 BH gAR IR SR g1 351 Gt geredi & IR A gfa
ETGIEGG IR
SubQuestion No : 12
Q.12 3rE@aR gd 3ru= 221 & g 3@ 9ot ueareil & ary & TurR A g & gearei 4 oft R
gl
Ans X 1. ueta
X 2. reiied
X 3. wafsa
o 4. 3T
Question ID : 630680938685
Option 11D : 6306803679130
Option 21D : 6306803679128
Option 31D : 6306803679127
Option 41D : 6306803679129
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Comprehension:

2 Ry 72 wrerier # 5 e ©1g 3 19 8, e sree & e IR fadhen e man &1 &9 ey Y
YR U¢ 3R TR faehed § T qaiwd IR arel faehed g |

3TTSTehed, AR U SitaT hl Teh STARTehdT o+ 7T § | I IToTR § oreqiT geft 7 Igetees
BT &1 Ueh YHTEIR U1 & WaR| bl UhIM 81T &, ST ehFTSTl UR STUT ST & 3R & o u”i & faaRa fmar
SITAT &1 STHT-3TelT ST 3TTAT STeRT JHTER T T & | SRIER gH 310+ o1 H gt gt gofY geman &
1Yy 8 IR A g1 w8t geren 9 off A &1 g g8 @, AT, ud, garst, srfaaen, fher
Jeit, fthew (TAfa), Ao, ISR 1S & aR # foeghel Géler STHeRRT &dT 8| THTER U5 AT el

SR ST & STIR AT & Uk O S1fden Ig<at &t gfel el &1 THMEIR U 9gd gt urdt

SR____ B g ok TR &l gl @eRi g GEATSHl el Teh A1Y Yeh TITH TR AN el UgaTd 6 | Famait
&Y I A TR Igd S Bidil &1 T8 B BHR IR 31R 81 1 aoft werett & IR A gfad
ETGIEGR IR

SubQuestion No : 13
Q.13 FAERUTART R 3R 5iwwd o SIgHR @ & Gk & 31fdah Seeal i gfed shear g1
Ans X 1.3F
o 2. MaTehdl
X 3. SHEEn

X 4.9

Question ID : 630680938686

Option 11D : 6306803679132
Option 2 ID : 6306803679134
Option 31D : 6306803679131
Option 4 1D : 6306803679133

Comprehension:

= ey M2 Terier H e e Big 3 M0 &, vl sifede & e IR ey e man &1 59 erier Y
HTYdR U¢ 3R IR faered] § T qaid IR arel faehed g |

3TTSTehed, AR U SitaT hl eh STaTehdT s 7T § | I8 SToTR § oreqiT gaff o Igetses
BT &1 Ueh GHTEIR U § WaR &l TehTM BidT 8, STt ehiToTl UR BTUT SI1dT @ 3R Wil & &Y & faaRa fmar
STTAT & 1 STT-3TTT 28T STUAT STl THTIR o WA & | 3gaR g1 o1+ 327 & gt wat aoft gearei &
1Y & IR A g1 38t geren 9 oft A &1 I8 g8 @, A, ud, garst, srfagen, fhen
el ftnew (TAfa), o, ISR 1S & aR # foeghel Géle TR &dT 8| TATER U5 ATl

3R SRR & ITAR AN o Geh I 3710k g2l &l Il Shedl & | THTER U Jgd of TTet
3R Bl & 3R TUR & Gt @eRi g GE13H I Teh AU Yeh AT UR AN el TgaTd 6 | Famsil
I JoT H SR Igd A BT &1 T8 BH gAR IR 3R g1 351 Gt geredi & IR A gfa
ETGIEG IR

SubQuestion No : 14
Q.14 9HTR U agd & gret 3fk ga gl
Ans X 1. saf@q

o 2. fhITett
X 3. ThRIER

5 4. 3FTaas

Question ID : 630680938687

Option 11D : 6306803679137
Option 21D : 6306803679135
Option 31D : 6306803679136
Option 4 1D : 6306803679138
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Q.15

Ans

Comprehension:

A Ry M iR B P <eg Bt R MU 8, Ui Srgeae & ane IR feey fem mam &1 39 merier
HTYER U 3R IR faehed § § gaiad IR arell faehed 4|

3TTSTehed, THTRIR U SitaT hl Ueh STaTehdT s 7T § | I8 TSI § oreqiT Tft T Igetses
BT &1 Ueh YHTEIR U1 & WaR| bl UhIM 1T &, ST ehFTSTl UR STUT ST & 3R & o u=i & faaRa fmar
STTAT &1 STHT-3TelT 3T 3TTT STeHT JHTIR T T & | SRIER g4 31U+ o1 F gt gt gofY geren &
Yy g 9OR & g) T geren & off A &1 T8 g8 @, AT, 4, garst, srfaaen, fher
e, fhed (Tfa), HWisH, ISR o7 & IR # foegrad Tt TR &dT & | THTER U AT i

SR ST & SIIIR AT & Uk O S1fden Ig<at &t gfef el &1 THMR U 9gd gt urdt

R_____ B g ok TR ! afl @eRi g EATSHl hl Teh A1Y Yeh TITH WR AN el UgaTd 6 | Famai
HIIANASTR ____ Tgd HA I 81 I8 BH g9R IR 3R g1 5t Goft geradi & IR A gfa
AT BT B
SubQuestion No : 15
gaSi &t g A sEeht _aga FH gt 31
K1, S
o 2. hHd
X 3.3@E@
5 4.9
Question ID :
Option 11D
Option 2 ID
Option 31D :
Option 41D :

: 6306803679140
: 6306803679141

630680938688

6306803679142
6306803679139

Q.16

Ans

Comprehension:

12 Qg T3 TTerier & &G 5 U Y T &1 59 TTeIieT ot eydeh Ue SR AR fdened! H & Ui U
T IR A |

STl 3R Uehfal o W1 AT BT Y7 T &Y TTE AT 28T & | UTehfeich Higd ohl Iog 4 &l aui gidl & ok 7gt
T fohaT & @ @il &t Ut & 3T ot ST el & | 3T Thg Thd & foh STt 371X Tehfdeh o ATd
TS T Qe ST R &, oIt Uoh fohamT & ST TehdT & Riifeh ITeh! thifel STt oh hIRUT &Y T*7d &f
Uit &1 uget & T # g & forg o o ave @ gt aui & o wR €t AR g 2 3 urd g e
1Y i FawT 78] gicit Y| SiE — S G F&e 7Y Tehriieh T [Ienrd g3 38 — 39 51T 7R i
Hied & off agetra smar At urht ofiR T o1 Feter § RIS Seela g g3 IR SR STt +ff It
Bt & fSiaT Uget gon ad! oft a9 ST & I8 Fool o 3@ ol | UHT BAR WRR & [oIY Igd HrIGHS giar
, STeT o foreT g fSieT 389 & IR & Gl oft 78t Gohdt &1 Uit 89 ek 7S Shoif 2T & foeeh shRoT gHIRT
SRR I AT T T 1 e & foll gRAT TR BT 1 f99 aRg T i gHR & g smasaes & s
I e ur oft gR foIg smasaek g1 O §AR IR T Ueh AgaqUf d<d gl

SubQuestion No : 16

T IS T i Sugh 2ftefe-

1. 5T SR geaa

o 2. 5 iR A

X 3. vTepfaes e

X 4. mages gt
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938756

6306803679400
6306803679399
6306803679401
6306803679402
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Comprehension:

= e T Trerier & @Te 5 U U T €1 39 eI Rt eagdeh U¢ ok aR fadhedt & & udieh Ust
garad SR |

STt 3R Tepfa o AT TS T [ B TERT AT 6T & | UTehfoeh Hie Y asre T €t auf gid) & iz ag)
gyt foheT o W @i ot ITHT & &1 T S el 8 | STTeTY Shg Tehd & foh STet 3fR UTepfdeh o a1
AT T Qo STHIE R 8, fO8 Ueh foham &) 9weT ehar € Jaifch SUehl thuel STeT o hRUT & A &
ol &1 uget & THa B g & forg o g oRe @ & auf & ot R € ek Tea 2 S u R e
T chl HaRAT 78] gici Y| S — S TG F&e Y Tehrieh T [Ienrd g3 38 — 39 5Tt 3R Hepfaeh
Tied & oft agetra omaT| AR urh ofk AT o1 Tay B IS Sgera TET gor Ih! Srevd o1t off I
&t & fSiaT Uget gon ol oft a9 SR ¢ I8 Fool & @A i | UHT BAR RR & oIg Igd HrIeHs giar
2, 5Tt & for 9 Sier 3 & IR & iy oft 7181 Tepat &1 Ut 895 Ueh 78 St 2T & fSieh shRor gART
SRR I AT T T 1 e o foTl SR TR BT 1 fS9 a=g T i gaR & g smasaes & s
I e ar off gR fIg smasaek g1 O §AR AR T Ueh AgaqUf d<d gl

SubQuestion No : 17

Q.17 fA=faf@d s 3, aR fAereal 7 4, 39 RAeea &1 wg= = St Ry 710 2reg & ey 21eg a1 e
2l

St

Ans X 1.t
X2
o 3. AT

X 4. gaaE

Question ID : 630680938760

Option 11D : 6306803679416
Option 2 ID : 6306803679415
Option 31D : 6306803679417
Option 41D : 6306803679418

Comprehension:

2 fou T TTerier & 1 5 U U TR €1 39 I Sl eATHgE e U SR AR fadhed! H I U U I
I IR A |

el 3R Uehfal o W1 A BT Y7 T &Y TE AT 26T & | UTehfich Hiad chl aog T & aui gidl & ok 7gt
VT R & ©d Wil &l UTHT & 3T it S it & | 3T Thg Thd & oh STl TR UTehfceh h AT
TS T Qe ST R &, ot Goh fohaT & SHeT UehdT & Riifch ITeh! thfel STl oh hIRUT &1 T*1d &l
ol &1 uget & Twa B RHerE & forg ot gt ave @ & auf & ot R € ARk Tea 2 Sk U R e
T Y AT Tol gil off | S — S GHY &l AG dehrileh b [t g3m & — 38 STet 3fR repfaren
Tied # oft agetra omaT| AR urh ofk Ay o1 Tay H S Seelrd TET gor ITh! Srevd STt ofF I
Bt & oIt Ut goT el off 99 SR & I8 WeoT o 3@ i | T gHAR 2RR & oy g hraeHe giar
2, 5Tt & form 9 STt 3 & IR & iy oft 7181 Iehat &1 Ui 895 Ueh 78 St T & fSieh shRor gART
SRR It AT T T 1 e o foTT §RAT TR BdT 1 fS9 aRg T i gHR & g smasaes & s
I e ur off gR foTg smasaek g1 O §AR AR T Ueh AgaqUf d<d gl

SubQuestion No : 18
Q.18 37T & SIJUR U & Hgd @ Haf-Ad i-971 faered 7Tera 87
Ans X 1.gd e darg

X 2. St SR & forg wrkEe
X 3. 3RR & oy wraHe
o 4. T O g Jepriien T fenrer gom &

Question ID : 630680938758

Option 11D : 6306803679407
Option 21D : 6306803679410
Option 31D : 6306803679408
Option 41D : 6306803679409
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Q.19

Ans

Comprehension:

= e T Trerier & @7 5 U U T €1 39 eI Rt ek U¢ SR aR fadhedt 7 & udieh Ust
ot SR |

STt 3R Tepfa o A1 TS T [F T B ST AT 6T & | UTehfaeh Tl Y asre T €t auf g} & ofiz g
gyt e o @d @i ot ITHT & &1 ff S el & | STTeTY Shg Tehd & foh STet 3fR UTepfdeh o a1
AT 1 o STHIE R 8, fO8 Uk foham &) 9weT ehar € aaifch SUehl thurel STel o hRUT & A &
Urcft &1 uget & T # Rard & forg o o avg @ gt auif & ot wR €t ek g 9 3k Ut g e
1Y chl FaAT 78] gici Y| S — S TG F&e 7Y Tehrieh T [Ienrd g3 38 — 39 51T 7R iepfaieh
Tied & oft agetra omar| AR urh ofk Ay o1 Tay H IS Sgera TET gor IThT Srevd o1t ofF I
Bt & fSiaT Uget gon ol oft a9 SR ¢ I8 Foof & @ ol | UHT BAR RR & oIg Igd HrIeHs giar
&, STt & for 9 fSier 3 & IR & iy oft 7181 Tepat &1 Ut 895 Ueh 78 St 2T & ek shRor gART
SRR I AT T T 1 e o foll §RAT TR BT 1 f9 a=g T i gHR & g smasaes g s
I e urt oft gR T smasaek g1 O §AR AR T Ueh AgaqUf a<d gl

SubQuestion No : 19

f=fafad uy A, o= Qe d @, 39 faeu &1 979 &2 it 27 71 21ee & gafaer ereg &
farerea 78 3|
wied
o 1.3
25 2. Joftgar
X 3. drEavg
& 4. i
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938759

6306803679414
6306803679413
6306803679412
6306803679411

Q.20
Ans

Comprehension:

2 fou T TTerier & 1 5 U U TR €1 39 TRIiN Sl eATHgE e U SR R fadhed! H I U U I
I IR A |

STl 3R Uepfal o W1 A BT Y% T &Y TE AT 26T & | UTehfeich Tigd <hl aoig T &) aui gidl & ok agt
T fhdT™ & @d @I &l UTHT &7 T it S deell 6| 3HITY g Hehdl 6 foh STel 1R UTehiceh oh A1
TS T Qe ST R &, fordt b foham & et TehdT & Riifch ITeh! thifel STl oh hIRUT 81 T*7d &l
ol &1 uget & THa B g & forg ot o ave @ & auf & ot R € ARk Tea 2 Sk U R e
1Y Y AT gl git off | S — S GHY &l AG dehrileh b fIehr g31 & — 38 Tet 3fR repfaren
Tied # oft agetra omar| AR urh ofk Ay o1 Tdy H S Saelrd TET gor ITh! Srevd STt off I
&t & e Uget gon o oft a9 SR & I8 Foof & 3@ i | UHT BAR RR & foIg Igd HrIeHS giar
2, 5Tt & for g9 Sier 3 & IR & iy oft 181 Iepat &1 Ut 895 Ueh 18 St 2T & ek shRor gART
SRR I AT T T 1 e o foTT §RAT TR BT 1 fS19 aRg T i gaR & g smasaes & s
I g ar off gR fTg smasaek g1 O §AR AR T Ueh AgaqUf d<d gl

SubQuestion No : 20

DT & TR o T JA HIRUT T §?

o 1. TP & Gezar

25 2. foram o1

25 3. 3rHYer Rear

X 4. 7geg o gazar
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680938757

6306803679404
6306803679403
6306803679405
6306803679406



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




